








| | (Bo) (Ba 9
o l1x100  [1x100
Be | 11x107 1108
joBe | 11x100  |1x104
lic | 11x100 110
lnc | 11x106  [1x10
e | l1x10m  |1x108
wc | [1x10m  [1x107
wc | 1x107  |1x10%
ENE 11x100  1x102
=0 | l1x100  [1x10°
e | l1x105  [1x10t
loNe | 11x100 1102
ZNa | 11x100  |1x10t
Na | 11x106 110
Mg | 11x105  |1x10t
Al 11x105 110t
lasi | 11x106  [1x10°
s | 11x106 1108
wp | 11x105  |1x10°
| l1x108  |1x108
E 11x100  |1x108
ss | l1x108  |1x108
ESI [1x106 110
)| 11x106  |1x100
=l | 11x105  |1x10t
war | 11x108  |1x108
Ar | 11x10¢  |1x107
laar | l1x100 1102
ok | 1x 100 1x 107
o 1x 106 |1x 107
S 1x 106 |1x 10t
| 1x 100 |1x 10°
S 1x 16 [1x 10!
lca | 1x 100 |1x 10°
sca | l1x 107 |1x 10°
lica | l1x 10°  |1x 10t
“sc | 1x 100 |1x 10°




| | (Ba) (Ba 9
“sc | [1x 1°  [1x 10!
jse | [1x 100 |1x 10
osc | [1x 1P [1x 100
S [1x 106 |1x 10
s | [1x 1 |1x 10*
losc | l1x 108 |1x 10°
i | [1x 1 |1x 10
eTio | [1x 10° 1x 10!
E [1x 1 |1x 10*
oy | l1x 1° [1x 10t
v [1x10  [1x 10°
lecr | [1x 100 |1x 10
cr | [1x 1P [1x 10!
ser | [1x 10 [1x 10°
Fan | [1x1°  [1x 10t
ET [1x 10° |1 10t
i [1x 1 |1x 10*
B | [1x 10 |1x 10¢
B | [1x 106 |1x 10*
B | [1x 106 1x 10!
e | [1x 106 |1x 10*
e | l1x 100 |1x 100
ore | [1x 100 |1x 10°
oFe | [1x 105 |1x 10
“sc | [1x 1° [1x 10!
se | [1x 100 |1x 10
osc | [1x 1P [1x 100
s | [1x 106 |1x 10
s | [1x 1 |1x 10*
losc | l1x 108 |1x 10°
i | [1x 1 |1x 10
oTio | [1x 106 [1x 10!
E [1x 1 |1x 10*
v [1x 18 [1x 10t
v [1x10 [1x 10°
lecr | [1x 100 |1x 10
er | [1x 1P [1x 10!




| | (Ba) (Ba 9
mer | 1x 107 |1x 10°
| l1x 1° |1 10t
fan | 1x 100 1x 100
= l1x 1° |1 10t
| l1x 10°  [1x 10t
Sn | l1x 10° |1x 10t
P | l1x 105 |1x 10°
e | 1x 10F  |1x 10!
ore | l1x 100 |1x 10t
e | l1x 100 [1x 10!
ore | 1x 105 |1x 107
o | l1x 10°  |1x 10t
%o | 1x 10° |1x 10!
o | l1x 10° |1x 10
o | 1x 100 1x 100
oo | l1x 107 |1x 10°
oo | l1x 105 |1x 10*
oo | l1x 10° |1x 10°
co | 1x 100 |1x 107
o0 | 1x 100 |1x 10!
N | l1x 100 |1x 100
N | l1x 100 1x 10!
N | l1x 100 |1x 10t
i | l1x 10°  |1x 10°
N | 1x 10° |1x 10!
i | l1x 107 |1x 100
ooy | 1x 100 1x 100
ey | l1x 10° |1 10t
cu | 1x 100 |1x 107
ey | l1x 10° |1x 10
| 1x 100 |1x 107
o | 1x 100 |1x 10!
oz | 1x 100 |1x 100
oz | l1x 106 |1x 10°
o7y | 1x 100 |1x 107
w7y | l1x 10°  |1x 10t
| 1x 100 |1x 107




| | (Bo) (Ba 9
[Bea | 1x 10° |1x 10*
%ca | 1x 10°  |1x 10"
ea | 1x 100 [1x 102
%ca | 1x 10°  |1x 10"
ca | 1x 100 [1x 10°
%ca | 1x 10°  |1x 10t
L 1x 1P [1x 102
e | l1x 100 |1x 10°
e | 1x 105 |1x 10*
e | l1x 106 1x 10°
e | 1x 10° 1% 10°
nee | l1x 10° |1x 10°
e | 1x 100 |1x 10°
mee | 1x 10°  |1x 10"
e | 1x 100 1% 107
s | 1x 10° |1x 10"
s | 1x 105 [1x 10*
ms | 1x 10° |1x 10t
s | 1x 105 |1x 10°
N l1x 107 |1x 10°
s | 1x 1P [1x 10°
N 1x 106 1x 10?
s | 1x 10° 1% 10°
s | 1x 10°  |1x 10t
e | 1x 100 |1x 10°
mse | 1x 10°  |1x 10"
e | 1x 100 [1x 102
%ca | 1x 10° |1x 10"
%ca | 1x 105 [1x 10*
ea | 1x 10°  |1x 107
%a | 1x 105 |1x 10°
| 1x 100 |1x 10°
%ca | 1x 105 |1x 10°
e | 1x 100 |1x 102
e | 1 10° 1% 10°
ee | 1x 10°  |1x 10"
e | 1x 10° |1x 10*




| | (Ba) (Ba 9
e | 1x 100 |1x 10
e | 1x 10° |1 10¢
e | 1x 100 |1x 10°
"ee | l1x 10°  |1x 10°
E 1x 106 [1x 102
s | l1x 10°  |1x 10°
s | 1x 10°  |1x 10°
s | 1x 100 |1x 10°
s | 1x 105 |1x 10°
s | 1x 100 |1x 10°
s | l1x 10°  |1x 10°
s | 1x 10°  [1x 102
s | 1x 100 |1x 10°
s | l1x 10°  |1x 10°
e | 1x 100 |1x 100
mse | l1x 10°  |1x 10°
e | 1x 106 [1x 102
mse | 1x 10°  |1x 10?
mse | 1x 107 |1x 10*
e | 1x 100 |1x 10°
e | 1x 107 |1x 10°
Be | 1x 106 |1x 10!
er | 1x 105 |1x 10°
gr | 1x 10°  [1x 10°
e | 1x 100 |1x 10
e | 1x 10° |1 10¢
e | 1x 100 |1x 10°
e | l1x 10°  |1x 10°
E 1x 106 [1x 102
s | l1x 10°  |1x 10°
s | 1x 105 |1x 10°
s | 1x 100 |1x 10°
s | 1x 105 |1x 10°
s | 1x 100 |1x 10°
s | l1x 1P |1x 10°
s | 1x 10°  [1x 102
s | 1x 100 |1x 10°




| | (Ba) (Ba 9
s | 1x 10°  |1x 10°
se | l1x 10°  1x 10"
e | 1x 106 |1x 10*
e | 1 10°  1x 107
mse | 1x 100 [1x 107
mse | 1x 107 |1x 10°
se | 1 10° 1% 10°
nge | 1x 107 |1x 10°
®se | 1x 105 [1x 10t
er | 1x 100 |1x 10"
e | l1x 105 [1x 10t
B | l1x 10° |1x 10t
mer | 1x 10° |1x 10°
B | 1x 10°  |1x 107
oBr | 1x 100 |1x 102
gy | 1x 107 |1x 10°
| 1x 106 1% 10°
oy | 1 10° |1x 10°
er | 1x 105 1% 10t
e | 1x 100 |1x 10?
e | 1x 10° 1% 102
e | 1x 100 |1x 102
e | 1x 105 1x 10°
e | l1x 107 |1x 10°
e | 1x 100 |1x 10°
e | 1x 102 |1x 10°
x| 1x 100 [1x 10°
e | 1x 10° |1x 10°
ke | 1x 10° 1% 107
e | 1x 10°  |1x 10?
T 1x 105 |1x 10t
Ry | 1x 100 |1x 10°
Ry | 1x 107 1% 10°
Ry | 1x 100 |1x 10"
=R | 1x 1P [1x 102
Ry | l1x 10° |1x 10t
R | 1x 10° |1x 102




| | (Ba) (Ba 9
Ry | [1x 107 1% 10¢
E [1x 16°  |1x 10!
R | 1x 10° 1% 100
gy | [1x 107 |1x 10°
s | [1x 105 |1x 108
s | [1x 16°  |1x 10*
wsr | [1x 10°  |1x 108
msr | [1x 10F  |1x 10
ogr | [1x 107 |1x 10
s | l1x 100 |1x 10
osr | [1x 10°  |1x 10°
EY l1x 10 |1x 102
osr | [1x 10°  |1x 10t
Y [1x 10°  |1x 100
oy | 1x 100 |1x 10t
oy | [1x 107 |1x 10
oy [1x 100 |1x 108
oy [1x 106 |1x 10*
oy | [1x 105 |1x 10°
oy | l1x 10F  |1x 10"
oy | [1x 100 |1x 10°
oy | l1x 100 |1x 10
oy [1x 105 |1x 10
o 1x 10°  1x 10°
R l1x 10° |1x 10t
E [1x 16°  |1x 10!
ez | [1x 107 1% 107
oz | [1x 10° |1 10
oz | [1x 100 |1x 108
oz | [1x 107 |1x 10°
oz | [1x 10°  |1x 108
e | [1x 105 |1x 10"
Ny | [1x 105 |1x 108
| l1x 106 1x 10t
oo | [1x 105 |1x 10!
o | l1x 107 |1x 10¢
| [1x 108 |1x 10t




| | (Ba) (Ba 9
= | 1x 100 |1x 10
o | 11x 107 [1x 10?
| 1x 100 |1x 10°
No | l1x 10°  |1x 10°
oy | l1x 105 [1x 10°
M | l1x 10°  [1x 10°
0 | l1x 10°  |1x 10°
oo | l1x 100 |1x 10°
M0 | [1x 100 [1x 102
oyo | l1x 100 |1x 10°
©rc | l1x 10°  |1x 10°
e | l1x 10°  [1x 10°
e | 1x 100 |1x 10
e | l1x 1°  [1x 10°
oc | 1x 100 |1x 10°
e l1x 10°  |1x 10°
% | l1x 100 [1x 10°
ore | 11x 107 |1x 10°
e | l1x 10°  [1x 10°
e | 1x 107 |1x 10°
®c | l1x 106 |1x 10°
ore | l1x 107 |1x 10¢
lore | 11x 107 |1x 10?
T l1x 10°  [1x 102
e || 1x 10° |1x 10
T 11x 10°  [1x 10?
Ry | 1x 107 |1x 10?
Ry | l1x 10°  [1x 10?
Ry | l1x 100 [1x 10°
oy | 11x 105 [1x 102
oRh | l1x 100 [1x 10°
loRh | l1x 100 |1x 10
gy | l1x 106 |1x 10°
fogh | l1x 107 |1x 10°
g | l1x 107 |1x 10?
. l1x 10°  [1x 10°
oogh | 1x 100 |1x 10?




| | (Bo) (Ba 9
oogh | 1x 10°  |1x 10°
o 1x 107 1x 107
joogn | 1x 100 |1x 10t
Ry | 1x 10°  1x 107
fopg | 1x 107 1% 10?
fopg | 1x 10°  |1x 107
opg | 1x 10°  [1x 10°
fopg | 1x 10°  [1x 10°
opg | 1x 100 [1x 10°
g | 1x 10°  [1x 10"
g | 1x 1P [1x 10°
ooy | 11x 10° 1x 10t
g | [1x 100 [1x 10t
eag | l1x 100 [1x 102
*ng | 1x 10° [1x 10°
ong | l1x 100 [1x 10t
=ng | 1x 1P [1x 10°
g | 1x 10F  [1x 10*
g | 1x 1P [1x 10°
g | 1x 105 |1x 10°
g | 1x 105 [1x 10!
g | 1x 107 |1x 107
g | 1x 107 [1x 10°
g | 1x 10°  |1x 10°
lmed | 1x 108 |1x 10°
B 11x 10°  1x 10°
gy | 1x 107 |1x 107
E 1x 10°  |1x 10t
EC 1x 100 [1x 107
fopg | 1x 107 |1x 107
jopg | 1x 100 [1x 107
fopg | 1x 10°  |1x 10°
opg | 1x 10°  [1x 10°
fopg | 1x 100 |1x 10°
g | 1x 105 [1x 10!
g | 11x 10° 1x 10t
g | [1x 100 [1x 10t




| | (Ba) Ba 9
g | [1x 100 [1x 10!
ong | [1x 100 [1x 102
*ng | [1x 10 |1x 10*
oompg | [1x 10° |1 10t
=ng | [1x 10° [1x 10°
opg | [1x 106 |1x 10t
g | [1x 100 |1x 10°
g | [1x 1° |1 10t
g | [1x 105 |1x 10
g | [1x 100 1x 107
g | [1x 107 |1x 10°
g | [1x 10°  |1x 10¢
g | [1x 10°  |1x 10°
e | [1x 10° |1 10°
=g | [1x 100 1% 107
g | [1x 10° |1 10°
wed | [1x 100 |1x 10*
g | [1x 106 |1x 10t
oy | [1x 100 |1x 10
gy | 4.90 [1x 106 |1x 10t
oy | 1.15 [1x 105 |1x 10*
| [1x 100 1x 107
I [1x 100 |1x 107
opg | [1x 10°  |1x 10t
g | [1x 10°  |1x 10
oo | [1x 10° |1 10t
g | [1x 100 1% 100
oopg | [1x 10° |1 10t
uonpg | [1x 100 |1x 10*
g | [1x 106 |1x 10°
juzpg | [1x 105 |1x 10
g | [1x 1° |1 10t
g | [1x 107 |1x 107
ooy | [1x 100 1x 10°
g | [1x 10°  |1x 10¢
g | [1x 10° |1 10°
Ev I [1x 10°  |1x 10°




| | (Ba) (Ba 9
l=d | 1x 10 |1x 102
g | 1x 10° |1x 10°
lwod | 1x 100 [1x 10
g | 1x 10° |1x 10t
oy | 1x 10°  [1x 10+
gy | 4.90 1x 10° |1x 10t
oy | 1.15 1x 105 [1x 10t
| 1x 100 |1x 10°
L 1% 10° |1x 102
gy | 1x 10° [1x 102
| 1x 105 [1x 10°
ECTE 1x 10° |1x 107
g | 1x 10° |1x 10°
T 1x 10° |1x 107
oy | 1x 10° [1x 10t
BT 1x 10° |1x 10t
ECTE 1x 10° 1% 107
BT 1x 10°  |1x 102
gy | 1 107 |1x 102
jugn | 1x 100 |1x 10°
gy | 1x 107 [1x 10°
gy | 1x 10° [1x 102
g | 1x 107 [1x 10°
Y 1x 10° |1x 107
I 1x 10°  |1x 10°
g | 1x 10° |1x 10t
lumeg | 1x 100 [1x 10
oy | 1x 10° |1x 10t
oy | 4.90 1x 10°  [1x 10+
gy | 1.15 1x 10° |1x 10"
| 1x 10° |1x 102
BT 1x 100 |1x 10°
g | 1% 10° |1x 102
g | 1x 105 [1x 10°
g | 1% 10° |1x 102
T 1x 10°  |1x 10°
g | 1x 10 |1x 102




| | (Ba) |Ba 9
juogn | [1x 10° |1x 10"
BT l1x 10° |1 10t
jumpn | [1x 10° |1x 107
T l1x 10° |1x 10
gy | [1x 107 [1x 107
gy | l1x 10° |1 10
gy | [1x 107 |1x 10°
umgn | [1x 10°  |1x 107
gy | [1x 107 |1x 10°
gy | l1x 107 |1x 10°
ngy | [1x 107 |1x 10°
S l1x 10° |1 10°
B [1x 10° |1x 107
S l1x 10° |1 10
gy | [1x 10° |1x 10t
ES l1x 10° |1x 10t
EST [1x 10° |1 10*
gy | l1x 10° |1x 10*
B [1x 10° |1x 10*
uagh | [1x 10° |1x 10"
g | [1x 107 |1x 107
gy | l1x 10° |1x 10t
gy | [1x 107 |1x 10°
EY 5.76 l1x 10° |1 10"
B 0.265 [1x 10° |1x 107
gy | l1x 10* |1x 10
B [1x 10° |1x 10t
gy | l1x 10° |1x 10
ES [1x 10° |1x 107
S l1x 10° |1x 10*
S [1x 105 |1x 10*
gy | [1x 10°  |1x 10!
S [1x 105 |1x 10*
gy | l1x 10° |1x 10t
ES [1x 105 |1x 10!
ENT l1x 10° |1 10"
e | [1x 107 |1x 10?




| | (Ba) |(Bq 9
[21e || [1x 1P |1x 10°
e | [1x 10°  [1x 10?
e | [1x 10F 1% 10°
e | [1x 107 |1x 102
s | [1x 207 [1x 10°
e | [1x 10°  |1x 10°
jeme | [1x 107 |1x 10°
e | [1x 10° |1x 10
E [1x 100 |1x 10°
e | l1x 10° |1x 107
e | [1x 10°  |1x 10*
e | [1x 107 |1x 102
=re | |1x 1 |1x 10*
e | [1x 10°  |1x 10°
e | [1x 10° 1% 100
o | [1x 10°  |1x 10°
T [1x 105 [1x 10°
ey [1x 10°  |1x 102
T [1x 107 |1x 10?
' [1x 10° |1x 10!
T [1x 100 |1x 10°
o | l1x 10° |1x 10
ET [1x 105 |1x 10?
I [1x 10°  [1x 102
ET [1x 1P |1x 10°
oy [1x 10°  |1x 10?
I [1x 1° [1x 100
T [1x 10°  [1x 102
= [1x 10°  [1x 10¢
R |1x 10°  |1x 10°
| [1x 10°  |1x 10°
e | [1x 100 |1x 10
N [1x 10°  |1x 10?
e | [1x 100 |1x 10
N [1x 10°  |1x 10?
2y | [1x 10°  [1x 10°
ve | |1x 1 |1x 10°




| | (Ba) |Bg 9)
[2xe | [1x 10* |1x 10°
Y [1x 10* |1x 10*
e | [1x 10* |1x 10°
e | [1x 10 |1x 10°
e | [1x 10° [1x 10?
e | [1x 10° |1x 102
S [1x 10° [1x 102
=cs | [1x 10¢ |1x 10°
ECT [1x 105 [1x 102
S [1x 10° |1x 102
E [1x 10°  [1x 102
E [1x 10° [1x 10°
l=cs | [1x 16° |1x 10
S [1x 10 |1x 10"
s || [1x 10° 1% 10°
ES [1x 107 |1x 10*
mos | [1x 10°  [1x 10°
s | |1x 105 |1x 10°
wes | [1x 10*  [1x 10°
s | [1x 10* |1x 10°
o [1x 107 |1x 102
gy | [1x 107 |1x 102
gy | [1x 10°  |1x 10?
gy | [1x 107 |1x 102
=gy | [1x 10° |1x 10?
gy | [1x 10° |1x 102
o [1x 100 |1x 102
gy | [1x 106 |1x 10°
oBg | [1x 105 [1x 102
gy | |1x 105 |1x 10°
gy | [1x 105 [1x 10°
gy | [1x 10° |1 10°
g | [1x 10°  |1x 10°
P [1x 100 |1x 10"
ErE [1x 107 |1x 10°
EP [1x 107 |1x 10°
[#a | [1x 1P |1x 10*




| | (Ba) (Ba 9
o | l1x 10° |1x 10t
g | 1x 10° |1x 107
g | l1x 10° |1x 10t
W | 1 10° |1x 107
e | 11x 107 |1x 10°
=e | l1x 10° 1% 10*
e | l1x 107 |1x 10°
sge | 1 10° |1x 10°
e | l1x 10° 1% 107
ge | 11x 107 |1x 107
e | l1x 100 |1x 107
e | 11x 105 |1x 107
N l1x 10° |1x 10t
wpr | 1x 100 |1x 107
S l1x 10° |1x 10t
o [1x 107 |1x 10?
jwpr | 11x 10° |1x 107
epr | 1% 10° 1% 107
lpr | l1x 100 |1x 10°
wpr | 1x 105 |1x 107
uspr | l1x 10° 1% 10°
wipr | 1 105 |1x 10!
EYER l1x 100 |1x 107
g | 11 107 |1x 10°
g 11 10° |1x 107
jong | l1x 100 |1x 10°
g | 11x 107 |1x 107
g | 1x 100 |1x 107
g | 11 10° |1x 107
g l1x 10° 1% 10*
gy | l1x 105 |1x 10"
[Py | 1x 100 |1x 107
vapy | l1x 10° 1% 10t
vopy | 11x 107 |1x 10°
vopy | l1x 10° |1x 10"
Py | l1x 107 1% 10°
epy | [1x 10° |1 10




| | (Ba) |Bg 9)
“Pn | 1% 10° 1% 10°
eopy | 1x 10° |1x 10°
ey | 1x 10° [1x 10t
E 1x 10° |1x 107
gy | 1% 10° |1x 10*
gy | 1x 10° |1x 10*
gy | 1% 107 |1x 107
g | l1x 107 |1x 107
vy | 1% 10° |1x 10*
s | gy 1x 10 |1x 10t
ES gy 1x 10° |1.3x 102
R 1x 10° |1x 10¢
B 1% 10° |1x 107
S 1x 10° |1x 107
B 1x 10° [1x 107
gy | 1x 10° |1x 10*
gy | 1x 10° |1x 10*
gy | 1x 10° |1x 107
gy | 1% 10° |1x 10*
gy | l1x 107 |1x 107
= 34.2 1% 10° |1x 10*
E=T 12.6 1x 10° |1x 10°
== 1% 10° |1x 10*
gy | 1x 10° |1x 107
e | 1x 10° |1x 10*
=Y 1 107 |1x 107
=Tl 1x 10 [1x 10!
EEYI 1x 10° |1x 107
=TI 1% 10° |1x 10*
g | 1x 10° |1x 10
g | 1% 10° |1x 10*
ed | 1x 10 |1x 10°
g | 1x 10° |1x 10*
ey | 1x 10° |1x 107
[sicd | 1% 107 |1x 107
g | 1x 10* |1x 10"
Ised | 1x 107 |1x 107




| | (Ba) |Ba 9)
I=cd | 1x 10° |1x 10°
| 1x 10° |1x 10°
ot | [1x 10° [1x 10°
Er 1x 10° |1x 10°
| [1x 10° [1x 10°
=T | l1x 107 [1x 107
S [1x 10° |1x 10°
= | 1x 107 [1x 107
7| [1x 10° |1x 10°
Erl 1.02 l1x 107 |1x 10°
o | 5.00 [1x 107 |1x 10°
Er 1 107 |1x 10¢
= | 1x 10° |1x 10!
Er 1x 10° |1x 10°
oy | [1x 10 [1x 10°
fspy | [1x 10° |1x 10°
B [1x 10° [1x 107
lspy | 1 107 |1x 10°
=y | [1x 10° [1x 10°
fopy | [1x 10° |1x 10°
S | [1x 10° |1x 10?
o | 1x 10° |1x 107
S | [1x 10° |1x 10?
o | [1x 107 |1x 102
2o | 1 107 |1x 107
ET 1x 10° |1x 10°
oo | [1x 10 [1x 10°
T [1x 107 |1x 10°
I [1x 105 [1x 10°
oo | [1x 10° |1x 10°
N [1x 10° |1x 10?
ogr | [1x 10° |1x 10!
e | [1x 107 |1x 10°
g | l1x 107 [1x 10¢
mer | [1x 10° |1x 10?
g | 1x 10° |1x 102
o | 1x 10 |1x 10!




| | (Ba) |(Bg 9
o | [1x 10° |1x 10°
o | 1x 10° |1x 10
om | [1x 10 |1x 10°
| 1x 108 |1x 10
e | [1x 10° [1x 102
= | [1x 10° |1x 107
| [1x 10° |1x 10°
ey | [1x 107 |1x 107
oy | [1x 107 |1x 10?
eyp | 1x 10° |1x 102
ooy | [1x 107 |1x 10?
| 1x 107 |1x 10°
vh | 1% 10 |1x 10?
vy | 1x 10° |1x 10°
oy | [1x 10 |1x 10°
oy | 1x 10° |1x 10"
| [1x 20° [1x 10°
ey 1x 10° |1x 10°
iy [1x 107 |1x 10?
| [1x 107 |1x 107
[y | [1x 107 |1x 10?
ey | 1x 10° |1x 102
oy | [1x 10° |1x 10°
| 1x 107 |1x 10°
[y | |1x 10 |1x 10
| 1x 10° |1x 102
T [1x 16° |1x 10°
| 1x 10° |1x 10°
o | [1x 10° [1x 107
| 1x 10° |1x 10°
BHf 1x 10° |1x 10°
HE | |1 10° |

e | [1x 10 |1x 10?
g | [1x 105 |1x 10°
ET I 1x 10 |1x 10"
g | [1x 10° |1x 10°
T 1x 10° |1x 10"
| 1x 10 |1x 10




| | (Ba) |Bg 9)
| [1x 10° [1x 102
feyg | 1x 10° [1x 10t
HE | [1x 10° [1x 100
Eral 1x 10° |1x 107
g | [1x 10° [1x 10t
T | 1x 10° |1x 10t
"7a | [1x 10° [1x 10t
"Ta | 1x 10 |1x 10"
T8 | [1x 10° [1x 10t
Ta | 1x 107 [1x 102
mra | [1x 10° |1x 10!
T | 1 107 [1x 10°
|12 || |1x 10° |1x 10*
ooy | [1x 107 [1x 10°
lera | l1x 10* [1x 10t
E= 1x 10° |1x 107
w7 | [1x 10° [1x 107
7| 1x 10° |1x 10t
&8 | [1x 105 [1x 107
T | 1x 10° |1x 10"
oy | [1x 10° |1x 107
| 1x 10° [1x 10"
[y [1x 10° |1x 10!
oy 1 107 [1x 107
| 1x 107 |1x 10°
ey | [1x 107 [1x 10°
T [1x 10° [1x 10?
ey | 1x 10° |1x 107
R | [1x 10° [1x 10t
ge | 1x 10° |1x 10t
oge | [1x 10° [1x 10t
wpe | 1x 10 |1x 10t
R | [1x 10° [1x 10t
2 1x 10° [1x 102
ope | [1x 10° [1x 10°
|12oRe I 1 107 [1x 10°

1x 10° |1x 10P




| | (Ba) |Ba 9)
Re | 1% 10° |1x 107
lege | 1x 107 |1x 107
ope | 1% 10° [1x 107
N 1x 107 |1x 107
Nl 1x 10 [1x 10*
S 1x 10° |1x 107
wos | 1x 10 [1x 10*
ss | l1x 107 |1x 10¢
El 1x 107 |1x 107
s | 1x 107 [1x 10°
Bl 1% 10° |1x 107
El 1x 10° |1x 107
e | 1% 10° |1x 10!
T 1x 10° [1x 10"
T 1x 10° [1x 10!
T 1x 10° [1x 10!
e | 1% 10° |1x 107
T 1x 10° |1x 10!
Tl 11x 107 |1x 107
T 1x 10° |1x 10!
T 3.10 1x 10 [1x 10*
EXT 1.20 1x 107 [1x 10*
T 1x 10* |1x 10!
EXTH 1x 107 |1x 107
ETHl 1x 107 |1x 10¢
ET 1x 10° |1x 107
oy | 1x 10° [1x 10!
T 1x 10° |1x 107
Tl 1% 10° |1x 107
lspe | 1x 10° |1x 10!
ep | 1x 10 [1x 10*
iopt | 1x 10° |1x 107
E=l 1x 10° |1x 107
hopg | 1x 107 [1x 10*
spg | 11x 107 [1x 10°
E 1x 10° |1x 107
opt | 1% 10° |1x 10°




| | (Ba) |(Ba 9
g | 1% 10° |1x 107
fopg | 1x 10° [1x 10?
| 1% 10° [1x 107
Y 1x 107 [1x 107
Y 1x 10° [1x 10°
hoepy | 1x 107 |1x 102
oy | 1% 10° [1x 102
oy | 1x 10° |1x 10!
ooy | 1% 10° [1x 10?
ooy | 1x 10° |1x 10
2oy | 1% 10° |1x 10°
oy | 1x 10° [1x 102
g | 1% 10° |1x 107
hg | 1x 10° [1x 10°
g | 1x 10° [1x 10*
=g | 1x 10° [1x 10
g | 1x 10° [1x 107
g | 1x 107 |1x 102
g | 1% 10° [1x 102
g | 1x 10° |1x 107
g | 1% 10° [1x 10?
I 1x 10° [1x 10t
T 1% 10° |1x 10°
EI 1x 10° [1x 10"
oy | 1% 10° |1x 10
I 1x 10° [1x 10°
oy | 1% 10° [1x 10°
T 1x 10° [1x 107
o7y | 1x 10° [1x 10°
oy | 1x 10° [1x 102
ory | 1% 10° [1x 10?
T 1x 10¢ 1% 10"
opp | 1x 10° [1x 10°
hopp | 1x 10° |1x 10
fopp | 1% 10° |1x 10°
opp | 1x 10° [1x 102
[opp | 1% 10° |1x 10°




| | (Ba) |(Bg 9
[pp | |1x 10° |1x 10°
oy | 1x 10° |1x 10"
oy | 1% 10° [1x 102
Popp | 1x 107 |1x 10°
opp | [1x 10° [1x 108
opp | 1x 10* |1x 10"
2pp | [1x 10° [1x 102
2opp | 1x 10° |1x 10*
24 | [1x 10° |1x 102
ogj | |1x 10° [1x 101
g | [1x 10° [1x 10*
g | 1x 10° [1x 10t
%gj | |1x 10° |1x 10*
Pegi | 1x 10° |1x 10t
i | 1% 10° [1x 10*
g | 1x 10° |1x 10t
2B | [1x 10° [1x 10°
g | 1x 10° |1x 10t
2 | [1x 105 [1x 10t
BT 1x 10F |1 107
i | [1x 105 [1x 10t
opy | |1x 10° [1x 101
p | [1x 10° [1x 10*
opg | 1x 10° [1x 10t
Py | |1x 10° |1x 10*
epo | 1x 10* |1x 10"
po | 1x 10* [1x 10*
opg | 1x 10* |1x 10"
oipr | [1x 10° [1x 10t
upe | 1x 107 |1x 10°
2Ry | [1x 107 [1x 10*
N 1x 10° |1x 10*
|2er | [1x 105 [1x 10°
o |1x 10° [1x 10?
= [1x 105 |1x 102
o 1x 10° [1x 10t
Ra | |1x 10° |1x 107




| | Bd |Ba 9
2ra | |1x 10¢ |1x 10"
Ra | 1x 10° [1x 107
ZRa | 1% 10° |1x 10°
2| 1x 10° [1x 107
1z | 1x 10¢ [1x 10!
2| 1x 10° [1x 107
Znc | 1% 10° [1x 10 *
e | 1% 10° |1x 10°
[ZPa || 1% 10° [1x 10°
E l1x 10° |1x 10
2pa | |1x 10° [1x 10*
N 1x 10° [1x 10°
Zpa | 1% 10° |1x 10"
=pa | 1x 107 [1x 107
2pa | 1% 10° |1x 10°
| 1x 10° [1x 10!
= | 1% 107 [1x 107
= | 1x 10° [1x 10!
2| 1x 107 [1x 10°
= | 1.15x 10° 1x 10° [1x 107
2N | 2.5 11x 10 |1x 10°
o | 1x 10° [1x 10°
2N | 1% 10° [1x 107
BV 1x 107 [1x 107
N | |1x 10° [1x 10°
=N 1x 10° [1x 107
= | 1% 10° |1x 10°
| 1x 10° [1x 107
o | 1x 10° [1x 10!
opg | 1x 10¢ [1x 10°
| 1% 10° [1x 10°
ey | 1% 10* |1x 10°
= | 1% 10° [1x 10°
an | l1x 10° |1x 10
[#oan | 1% 107 [1x 10°
N 1x 10° [1x 10°
o | |1x 10° |1x 10"




| | (Ba) |Ba 9
o | |1x 10° |1x 10!
2o | 1x 107 |1x 107
oon | 1x 10° [1x 107
o | |1x 10° |1x 107
o | [1x 10° [1x 107
o | 1% 10* |1x 10°
2om | 1x 10 |1x 10*
eon | 1x 10° |1x 10°
#0m | 1% 10° |1x 10°
en | 1x 10* [1x 10°
=om | 1x 10° |1x 10°
oom | |1x 10° |1x 10°
=on | |1x 10° |1x 10 *
g | |1x 10° |1x 107
o | 1x 10° [1x 10t
gk | |1x 10* |1x 10°
Bk | [1x 10° [1x 10°
B |1x 10° |1x 10*
#of | [1x 107 [1x 10¢
o | 1x 10° |1x 10°
#cf | 1x 10 |1x 10*
et | |1x 10° [1x 10°
=or | |1x 10* |1x 10°
il |1x 10° |1x 10°
[=of | |1x 10* |1x 10!
=cf | |1x 10° |1x 107
= | |1x 10° |1x 10°
B |1x 10° |1x 10
migs | [1x 107 [1x 107
e | |1x 10° |1x 107
s | [1x 10* |1x 10*
s | 1x 10° [1x 107
== 1% 10° |1x 10°
= | |1x 10° [1x 107
s | [1x 107 |1x 10¢
B |1x 10° |1x 10°
=Em | |1x 10° |1x 10!




( )

I | (Ba) ((Bg 9)

=hd | |1x 107 |1x 107

=g | 1x 10° |1x 107
1x 10° |1x 10 *
1x 10% |1x 10 *
1

(

| |

g Al

|“4Ti |““Sc

|5°Fe |6°‘00

|‘*’Ge |‘*’Ga

|33Rb |83“Kr

|2sr (2R

|ogr oy

|s7Y |s7er

|zr (o

|97Zr |97Nb

|95“I'c |95Tc(0.04)

[y [wRn

[ng | g(0.089)

2wy [28n(0.776)

[2sgq  |rngp

E e

E Y

s

“ce  [pr

[P |“Pn(0.046)

|146(3d |146Eu

|172Hf |172|_u

|17y 7e7q

|139W |138Re

[oRe  |0s(0.241)




|19“Os |19“Ir
|139Ir |m05
|138Pt Imlr
g A
=g [5449(0.542)
[20ppy 208§ 20pg
[2ppy 28§ ZeT1(0.36) 22Po(0.64)
|2ogj |2o)
2 T1(0.36) 22Po(0.64)
|22°Rn lmPo
[2Rn 28pg 24ppy 24gj 2pg
|723Ra |23""Rn ZBpg Mpp MBj 2]
[>Ra 2R Z6pg 22Ph 22Bj 2BTJ(0.36) 22Po(0.64)
|2Ra 2Ry Zpy 24pp 2B 24py App 2B Aopg
|223Ra ImAc
[2onc |ZFr 2ipt 29§ 2Po(0.978) 2°TI(0.0216) Pb(0.978)
[Z7nc 1 (0.0138)
[#"Np Zpa
(e [2an
[#Am 2Np
)
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(Bg cm3)

|
|
| ’ (Bg cm?d) (Bg cmd)
aH | |1x104 | [7x100
aH | |1x102 | [7x10 1
H | 810 1 l6x101 |5x10
aH L ) s5x10 1 210t [3x10 3
aH | [7x10 1 ax101 [3x10 3
'Be | 5x10 1 3x10t |2x10 3
"Be | 5x10 1 |3x101 [2x10 3
[10Be | 3x10 3 710 1 |1x10 5
19Be | [1x10 @ |7x10 1 |ax10 s
oC | lox10 2 | lax10 4
l1C | [2x10 1 | [7x10 4
lnc | |7x100 | lax10 2
juc | | 4x10! |
nc | |2x10t | 1x10 1
luc | |ox100 | |5x10 2
luc | |8x102 | ax100
uc | 14x10 2 I [2x10 4
uc | | 2100 |
1uC | 3x101 | [1x10 1
e | |3x100 | |2x10 2
1aC | |7x100 | 5x10 2
N | |2x10 | [7x10
N | 3x10 2 | 1x10 4
1110 | lax10 2 | |2x10 4
50 | [2x10 1 | [7x10 ¢
%0 | |2x10 1 | [7x10 4
F H Li NaSi P KN Rb Sr Mo Ag Te |4x10 t 2x101 4x10 3

I Cs Ba La W Pt TI Pb Po Fr

Se Hg

(
)

BF Mg Al Ca Ti V Cr Mn Fe Cu Ga Ge As Y [2x10? 2% 10 2% 10 3

Zr Nbo Tc Ru Rh Pd Cd In Sn Sb Sm Eu Gd

Tb Dy Ho Er Tm HF Re Os Ir Au Bi Ra Ac

Th Pa Np Pu Am Cm Bk Cf Es Fm M

H
(g )




(Bg cmd)

‘ (Bg cm?d) (Bg cmsd)

£ ‘BeScCoZnCePrNdeYbLu Ta 210 * 2 10° 210
29 | 1x 10 2 3x 10 * |ox 10 ¢
[*fa | 4x 10 |2x 100 |ax 104
Mg 2x 10° 4x 10! 2x 10 2
g | 1 10 [ 10 [1x 102
Mg 2x 10 2 4% 10 * 2x 10 ¢
g | [1x10° [4x 10 [1x 10
=Al 1x 103 2x 10 * 1x10°°
=l 210 ° 10" x10°
2 4x 100 8x 10° 4x 10 2
e 3x 100 8x 10 3x 10 2
=Al 2x 10° 4x 10 2x 10 2
2l 1x 10° 4x 10* 1x 10 2
asj 4x10? 5x 10° 4x10°°
s | 2x 10 |5x 10° |2x 10
Psi | 2x 10 * [5x 10° [1x 10 2
=i 6x 10 ° 1 10° 4x10°
(i | 2x10° |1x 10 |7x 10 ¢
[=si | l4x 10 ¢ 1% 100 [1x 10°
=P lsn |4x100 [7x100 |ax10 2
[=p sn |3x100 7x101 3x10 2
[ Isn lax 10° 7x 10t 4x 10 2
P E) 3x 100 7 10t 3x10°
[ lsn 2x 10 310" 1x 10 ¢
[ lsn 7% 10 ® 3x 10! 4x 10 °
[=p lsn 1x 10 * 3x 10 1x10°
[ lsn [2x 102 3% 1¢° 8x 10 °
s L« ) 2x10 x10°
E | 3x 10 2 10
s | | 6x 10°

s l | 6x 10°




(Bg cmd)
(Bg cm?) (Ba cm?d)
E I I |1x 10 I
s H Li Na Mg Al Si P K Ti V Cr Mn Fe Ni Ga Rb ([3x10* 2x 10 ®
Sr Zr Tc Ru Rh Pd In Te | Cs Ba La Gd HF W Re
Os Ir Pt Au TI Pb Po Fr Ac Cu
Ge Mo Ag Cd Sn Se
Hg Hy
*5 Be Ca Sc Co Zn As Y Nb Sb Ce [2x10°? 9% 10 °
Pr- Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu Ta Bi Ra
Th Pa Np Pu Am On Bk Cf Es Fm Md
Cu Ge Mo Ag Cd Sn Hy
s L« ) |2x 100 | |1x 10 2
[7s | |2x 10° | [ox 10 2
[7s | | [5x 10t |
s I I 5 10 I
I’ I I l5 10 I
B H Li Na Mg Al Si P K Ti V Cr Mn Fe Ni Ga Rb |2x 10° 2x 10 2
Sr Zr Tc Ru Rh Pd In Te I Cs Ba La Gd HF W Re
Os Ir Pt Au TI Pb Po Fr Ac Cu
Ge Mo Ag Cd Sn Se
Hy Hy
7S Be Ca Sc Co Zn As Y Nb Sb Ce |1x 10° 2x 10 2
Pr- Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu Ta Bi Ra
Th Pa Np Pu Am On Bk Cf Es Fm Md
Cu Ge Mo Ag Cd Sn Hg
% |« ) 1x 10 * | 6x 10 ¢
[=s | 1x 10 * | |7x 10 ¢
E I I |3 10 I
= | | |3x 10° |
E I I |3 10 I
=5 H Li N Mg Al Si P K Ti V Cr Mn Fe Ni Ga Rb 9x 10 2 8x 10 *
Sr Zr Tc Ru Rh Pd In Te I Cs Ba La Gd HF W Re
Os Ir Pt Au TI Pb Po Fr Ac Cu
Ge Mo Ag Cd Sn Se
Hg Hg
] Be Ca Sc Co Zn As Y Nb Sb Ce 6x 10 ? 4x 10 *

Pr Nd Pm Sm Eu To Dy Ho Er Tm Yb Lu Ta Bi Ra
Th Pa Np Pu An Cm Bk CF Es Fm Md
Cu Ge Mo Ag Cd Sn Hg




(Bg cm3d)
(Ba cmd) (Ba cmd)
¥l H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs Ba La Gd [3x 10° 4x 10° 3x 10°
W Pt TI Pb Po Fr Se Hg
*l Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As |[3x 107 4x 10° 3x 10°
Y Zr Nb Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm
Eu Tb Dy Ho Er Tm Yo Lu HF Ta Re Os Ir Au Bi Ra
Ac Th Pa Np Pu An Cm Bk Cf Es Fm Md Hg
( )
gl [7x 102 3x 10 ¢
i H Li Na Si P K Ni Ro Sr Mo Ag Te | Cs Ba La Gd [4x 10* 8x 10° 4x 10
W Pt Tl Pb Po Fr Se Hg
il Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As [3x 10! 8x 10° 3x10°
Y Zr Nb Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm
Eu To Dy Ho Er Tm Yb Lu HF Ta Re Os Ir Au Bi Ra
Ac Th Pa Np Pu Amn Cm Bk CF Es Fm Md Hg
( )
=l H Li Na Si P K Ni Ro Sr Mo Ag Te | Cs Ba La Gd [4x 102 9x 10! 3x 10 4
W Pt Tl Pb Po Fr Se Hg
=l Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As [4x10° 9x 10 * 2% 10 °
Y Zr Nb Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm
Eu To Dy Ho Er Tm Yb Lu HF Ta Re Os Ir Au Bi Ra
Ac Th Pa Np Pu Amn Cm Bk CF Es Fm Md Hg
( )
R | H Li Na Si P K Ni Ro Sr Mo Ag Te | Cs Ba La Gd [5x10* 7% 10° 5% 10 3
W Pt Tl Pb Po Fr Se Hg
=l Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As [3x 10! 7x 10 3x10°
Y Zr Nb Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm
Eu To Dy Ho Er Tm Yb Lu HF Ta Re Os Ir Au Bi Ra
Ac Th Pa Np Pu An Cm Bk CF Es Fm Md Hg
( )
i Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As [3x10*! 8x 10° 3x 10 °
Y Zr Nb Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm
Eu Tb Dy Ho Er Tm Yb Lu HF Ta Re Os Ir Au Bi Ra
Ac Th Pa Np Pu An Cm Bk Cf Es Fm Md Hg
( )
*Cl H Li Na Si P K Ni Rob Sr Mo Ag Te | Cs Ba [4x101 1x10t 5x10 3
La Gd W Pt Tl Pb Po Fr Se
Hg
*Cl Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga (3x101 1x10* 3x10 3
Ge AS Y Zr Nb Tc Ru Rh Pd Cd In Sn Sh Ce
Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu Hf
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu Am Cm
Bk Cf Es Fm Md Hg
( )




| (Ba cm?d)
| | (Bg cm?) (Ba cm?)
“cl HLi NaSi PKN RS Mo AgTe I CsBalaGd |5%10 1x 107 5x 10 2

W Pt TI Pb Po Fr Se Hg
“C| Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga [4x10° 1x102 4x10 2

Ge As Y Zr Nb Tc Ru Rh Pd Cd In Sn Sb Ce Pr

Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu Hf Ta Re

Os Ir Au Bi Ra Ac Th Pa Np Pu Am Cm Bk Cf

Es Fm Md Hg (

)

[=Ar | [1x108 | [7x102
[=Ar | |5x10t | |2x10 1
[aar | |1x10 * | |5x10 4
|ar | |5x100 | |2x10 1
[Ar | |7x10 2 | [3x10 4
e | 1x100 |3x100 |1x10 2
|k | |7x10 3 |1x10 * |5x10 5
| | 1x10 1 |2x100 |ox10
£ | |8x10 2 [3x100 [8x10 4
[ | l6x10 [1x100 |6x10 2
[« | [7x 10 * |2x 10" |8x 10
|ca | l1x 10 * lax 10° [1x 102
|<ca | lox 10 * 1% 10° [5x 10 ®
|“Ca | 1x 10 2 |5x 10 * [7x 10
|%ca | [7x 10 * |2x 10" |7x 10
[=sc | l1x 10 * lax 10° [1x 102
[“sc | 7% 10 2 |2x 10° [6x 10 ¢
|#sc | 1x 10 2 3x 10 * sx 10
s | |4x 10 ° l6x 10 * |2x 10°
[7sc | 3x 10 2 |1x 10° |2x 10 ¢
|#sc | [1x 10 2 5% 10 * [1x 10 ¢
|=sc | 3x 10 * 1x 10! [3x10°
“Ti | 3x 10 * 1x 10 * 2% 10 °
|eTi | l8x 10 * 1x 10 * [3x10°¢
|Ti | 3x 10 ¢ l1x 10 * |1x 10 ¢
“Ti x 10" 6x 10° 3x10°
|=Ti | l1x 10 * l6x 10° |1x 10
i 2 10° 5x 10 2102




(Bg cm?)

‘ (Bg cm?d) (Bg cm?)
[5Ti | 2x 10° 5x 10t |2x 10 2
[5Ti | 2x 10° [5x 10t |2x 10 2
[V | [7x 10 * |1x 10t [7x 10 3
&Y | lax 10 ! |1x 10t |ax 10 @
|2y | |1x 10 2 |ax 10 * |1x 10 ¢
|2y | 8x 10 ° |ax 10 5x 10
v | 8x 10 * |ax 10t [5x 10 3
oy | l9x 10 ! |ax 10t |3x 10 @
v | |2x 10 ¢ [2x 10 |2x 10
[y | 8x 10 ¢ [2x 10 1 |ax 10 ¢
v | 3% 10° |ex 10t [3x 10 2
[y | 2x 10° |6x 10t |2x 10 2
v | 6x 10° |1x 107 |6x 10 2
[=v | |5x 10° |1x 107 5x 10 2
|“cr | | |ax 10° |
|“8Cr | | |4>< 10° |
“8Cr ‘ 1x 10 ! ‘ 1x 10 @
[*ecr | lox 10 2 | |6x 10 *
[*scr | |8x 10 2 | |6x 10 *
1°cr | I l1x 10t |
Per | | 10|
“oCr | 6x 10 ! | 6x 10 °
[scr I lax10 * | [ax 10 @
[*cr | lax 10 ¢ | |3x 10 @
rrer | | 2x 10t |
pier | I 2x 10t |
[fier | [7x 10 * | [6x 10 3
[sicr | 6 10 ! | |ax 10 @
[sier | l6x 10 ! | [3x 10 @
[=cr | | [7x 10t |
[=cr | | [7x 10t |
[=cr | ax 10° | |ax 10 2
[=cr | 3x 10° | [3x 10 2
[=cr | 3x 10° | [3x 10 2
[#vn | 5% 10 * |ox 10° [5x 10 3
[#Mn | 3x 10 ! lox 10° |3x 10 @




(Bg cm?)

‘ (Bg cm?d) (Bg cm?)

[Mn | |1x 10 ? [5x 10 |1x 10 ¢
[ | l1x 10 2 5x 10 lox 10 5
[#Mn | l6x 10 * |1x 10t [6x 10 3
2V | lax 10 |1x 10t [ax 10 2
[¥Hin | 6x 10 * [3x 10 [ax 10 °
[*Mn | l6x 10 [3x 10t |2x 10 @
[*n | [2x 10 2 |1x 10° [1x 10 ¢
[*4n | |2x 10 2 |1x 10° 8x 10
[*Mn | |2x 10 [3x 10° |2x 10 @
[*Mn | l1x 10 [3x 10° |1x 10 @
[Fn | 8x 10° [2x 107 8x 10 2
[5Mn | 7% 10° |2x 102 [7x 10 2
|Fe | 3x 10 2 |6x 10 * [3x 10
e | |2x 10 2 |6x 10 |2x 10 *
[*Fe | 1x 10° [3x 10t [1x 10 2
e | 1x 10° 3x 10* |1x 10 2
[*Fe | |2x 10 2 [2x 10° |2x 10 ¢
[=Fe | l6x 10 2 [2x 10° [3x 10 *
FFe | [7x 10 ° [4x 10 |5x 10 5
[%Fe | [7x 10 3 |ax 10 |3x 10 ©
|"Fe | |6x 10 ® |8x 10 @ |sx 10 7
[®Fe | |2x 10 ¢ 8x 10 @ |1x 10 ©
Fo | | 0|

%Co | | |9x 10 * |

[*Co | 3x 10 ? | |2x 10 ¢
[=Co | 3x 10 2 | |2x 10 *
Fo | | R

%Co | | 3x 10 * |

[%Co | |sx 10 @ | [3x 10 ®
[%co | lax 10 @ | |2x 10 °
7o | | [4x 10° I

[Co | | j4x 10° |

[5'co | |sx 10 ? | |2x 10 ¢
7o | 3x 10 2 | |1x 10 ¢
o | | |1x 10° I

(%o | | |1x 10° |

o | |1x 10 ? | |8x 10 ®




(Bg cmd)

I (Bg cmBd) (Bg cm?d)

o | |1x 10 2 | |6x 10 *
=0 | | j4x 10° |

*Co I I |4 10 |

|%nco | |1x 10° | lox 10 @
[*co | |1x 10° | [7x 10 ®
o | | <00 |

"Co I I <0 |

|co | |3x 10 2 | l1x 10 °
["Co | |1x 10 2 | |ax 10 ©
™Co | | 5% 10° |

"Co I I |5 10° |

[®nco | |2x 10t | l1x 10 *
*"co | [2x 10t | lox 10 ?
"o | | |1x 10° |

"Co I I |1x 10 |

[fico | [3x 10 | 3x 10 @
[ico | [3x 10 | |2x 10 @
(%o | | lox 10 |

%o I I |9 10" |

|%%co | 5% 10° | 5% 10 2
|%Co | |5x 10° | |sx 10 ?
=0 | | |2x 10 |

Foo | | o |

[#zco | |6x 10 * | 6 10 @
|%co | |6x 10 * | l6x 10 @
[N | |2x 10 2 | l1x 10 ¢
[Ni | [3x 10 2 [1x 10° [2x 10 ¢
[N | |2x 10 2 |1x 10° 1x 10 4
[N | |4x 10 2 | |2x 10 ¢
[N | |ax 10 2 [1x 10° 5x 10 ¢
[oNi | [3x 10 2 [1x 10° [2x 10 ¢
[=Ni | 3 10 2 | 1x 10 4
[=Ni | |9x 10 2 |1x 10t [7x 10 ¢
[=Ni | | 2x 10 1| 1x 10 | 9x 10 *
[Ni | | 1x 10 2| | 6x 10 °
EY | | 4x 10 7 | 6x 10° | 3x 10 ¢




(Ba cmd)

‘ (Ba cm?) (Ba cmd)
[N | [7x 10 2 6x 10° 3x 10
[e=Ni | l6x 10 2 | 3x 10 *
[=Ni | 13x 10 * 5% 10° 3x 10 3
[N | 12x 10 * 5% 10° 11x 10 2
&Y | |1x 10 2 | 8x 10 °
B | 3x 10 ? 3x 10 ! 3x 10 *
[N | 1x 10 2 3x 10 * [7x 10 ®
Sy | 2x 10° 2% 10° 1x 10*
[Ficu | 2x 10° 2x 10* 1x 10"
[Ficu | 2x 10° 2x 10° 1x 10"
oy 5x 10 ! 1x 10" 5x 10 °
[fy | 3x 10 * 1x 10" l4x 10 @
[®°cu | 3x 10 ! 1x 10* 3x 10 °
GiCy 3x10* 7= 10° 3x 10 ®
[ficu | [2x 10 ! [7x 10° [2x 10 °
[sicy | |2x 10 ¢ 7% 10° [2x 10 3
€Cu 1x 10° 2x 10 1x 10 ?
[ezcy | lox 10 ! 2x 10t lox 10 °
[=cu | lox 10 * 2x 10" lox 10 3
&Cu 3x 10 * 7% 10° 3x 10 3
[*cu | l1x 10 * 7 10° 1x 10 3
ey | 11x 10 * 7% 10° 11x 10 °
%y 3x 10° 5x 10 3x 10 2
|fecy | 2x 10° 5% 10" 2x 10 2
[%cu | 2x 10° 5x 10t [2x 10 2
Cu 1x 10 * 2x 10° 1x 10 ®
[5icu | 4x 10 2 2x 10° |2x 10 ¢
[5icu | lax 10 ? 2x 10° |2x 10 ¢
|%zn | 3x 10 2 lox 10 * 2x 10 *
|=zn | 3x 10 * 1x 10" 3x 10 2
%Zn | [7x 10 ® [2x 10 ! l6x 10 °
[®zn | 5x 10 ! 3x 10t lax 10 °
zn I l6x 10 2 3x 10° lax 10 4
[z | ox 10 2 4x 10° 7% 10 ¢




(Bg cmd)

(Bg cmd) (Bg cmd)

[2zn | |1x 10 2 l6x 10 ! lox 10 °
|=Ga | [1x 10° 2x 10t 1x 10 2
*Ga | [7x 10 [2x 10t [7x 10 @
[Ga | |ax 10 2 [7x 10 * lax 10 ¢
|Ga | [3x 10 2 [7x 10 ! 3x 10 ¢
|5%Ga | [2x 10 ax 10° |2x 10 @
|Ga | [7x 10 2 4x 10° 5x 10 ¢
[#Ga | |ax 10 * 8x 10° l4x 10 *
|®Ga | [3x 10 8x 10° |2x 10 ®
[™Ga | [1x 10° 3x 10t 1x 10 2
[Ga | [8x 10 3x 10t [7x 10 @
"6 | |4x 10 2 8x 10 4% 10 *
|%Ga | |2x 10 2 8x 10 ! |2x 10 ¢
[Ga | [2x 10 3x 10° |2x 10 ®
[Ga | [1x 10 3x 10° 8x 10 ¢
|%Ge | |2x 10 * ox 10° 12x 10 *
|Ge | [2x 10 9x 10° l1x 10 @
[5Ge | [7x 10 [1x 10t 8x 10 °
[Ge | [5x 10 * [1x 10t 5x 10 °
|feGe | 3 10 2 [7x 10 * 2x 10 ¢
|Ge | [3x 10 3 [7x 10 ! lox 10 ¢
[®Ge | 8x 10 2 4x 10° lox 10 ¢
e | |6x 10 2 4x 10° l4x 10 ¢
"Ge | 3% 10° 7% 10" 2x 10 2
["Ge | [2x 10° [7x 10" |1x 10 2
e | |8x 10 2x 10t 8x 10 °
"Ge | 10" [2x10° 3 10 3
[7Ge | |8x 10 2 3% 10° 8x 10 ¢
["Ge | |5x 10 2 3x 10° 3x 10
[7Ge | [3x 10 1 7% 10° 3x 10 °
e | [1x 10 [7x 10° l1x 10 @
|58As | [2x 10° l4x 10 12x 10 ?
|®As | |6x 10 * 1x 10* l6x 10 °
S | [2x 10 7% 10° |2x 10 ®
[As | [4x 10 2 [2x 10° 3x 10 ¢
[7As | |2x 10 2 5% 10 * 11x 10 ¢
[PAs | [3x 10 2 3x 10° |1x 10




(Bg cm?)

I (Bg cm?d) (Bg cmd)
["As | |1x 10 2 [7x 10 * lex 10 ®
[eAs I [2x 10 2 5x 10 |2x 10 ¢
[7As I 5% 10 2 [2x 10° 3x 10 ¢
[As | |1x 10 * |ax 10° l1x 10 @
[PAs | lox 10 * [3x 10t lox 10 @
Pse I I 7x 100 I
EX | e |
[Pse | [3x 10 * | 3x 10 *
[Pse | [2x 10 | |2x 10 @
se I | [ax 10t [2x 10 ?
"se I | l4x 101 1x 10 2
"se I 2x 10° I I
"se I 2x 10° I I
7Se I I xw0t |
"se I I x10! |
7se | [7x 10 @ | 5% 10
[7se | |5x 10 @ | ax 10 ®
Pse I I 4x 100 I
e I I 4% 10° |
[Pse | |1x 10 * | l1x 10 @
[Pse | |ox 10 2 | |ex 10 ¢
P'se I | [3x 10 |
'se I I 3x 10 |
[nse | |1x 10° | [1x 10 2
[™se | |8x 10 | lex 10 ®
™Se I I 10t |
"se I I x1w0! |
se | |1x 10 2 | l1x 10 4
[Pse | |1x 10 2 | |1x 10 ¢
"se I | |1x 10* |
"se I I |1x 10° |
|mse | 5% 10t | 6 10 !
[se | 5x 10t | |5x 10 !
Pse I I >0t |
"se I I 2x10! |
[se | |1x 10 2 | 8x 10 °
[Pse | [7x 10 @ | |5x 10 ®




(Bg cm?d)

‘ (Bg cmBd) (Bg cm3)
[fise | | [3x 10t |
s | | [3x 10* |
[eise | [1x 10° | [1x 10 2
[fise | |ox 10 * | |8x 10 2
"se | | 2x 10 |
*se | | 2x 10 |
[Bse | [7x 10 | [7x 10 3
[fnse | [3x 10 * | |3x 10 @
e | | 2x 10 |
5se | | [2x 10* |
[®se | [6x 10 * | |6x 10 2
[=se | |ax 10 | |ax 10 @
"Br H Li Na Si P K Ni Rb Sr Mo Ag Te 1 Cs Ba La |[4x 10! 1x 10 4x 10 ®
Gd W Pt TI Pb Po Fr Se
Hg
“Br Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As |3x 10! 1x 10 3x 10 8
Y Zr Nbo Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm
Eu To Dy Ho Er Tm Yo Lu HF Ta Re Os Ir Au Bi
Ra Ac Th Pa Np Pu Anm Cm Bk CF Es Fm M
Hg
gy H Li Na Si P K Ni Rb Sr Mo Ag Te 1 Cs Ba La [3x10! 6x 10° 3x 10 °
Gd W Pt TI Pb Po Fr Se
Hg
"By Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As [2x 10! 6% 10° 2x 10 8
Y Zr Nbo Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm
Eu To Dy Ho Er Tm Yo Lu HF Ta Re Os Ir Au Bi
Ra Ac Th Pa Np Pu An Cm Bk CF Es Fm M
Hg
™Br H Li Na Si P K Ni Rb Sr Mo Ag Te 1 Cs Ba La [4x 10! 1x 10 4x 10 ®
Gd W Pt TI Pb Po Fr Se
Hg
Br Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As [2x 10! 1x 10 2x 10 8
Y Zr Nbo Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm
Eu To Dy Ho Er Tm Yo Lu HF Ta Re Os Ir Au Bi
Ra Ac Th Pa Np Pu An Cm Bk CF Es Fm M
Hg
"Br H Li Na Si P K Ni Rb Sr Mo Ag Te 1 Cs Ba La |5x 10 ? 2x 10° 5x 10 *

Gd W Pt TI Pb Po Fr Se

Hy




(Bg cm?)

(Bg cm?)

(Bg cm3)

"Br

Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn
Y Zr No Tc Ru Rh Pd Cd In Sn Sb Ce Pr
Eu Tb Dy Ho Er Tm Yb Lu HF Ta Re Os Ir
Ac Th Pa Np Pu An Cm Bk CFf Es Fm Md

Ga

Ge As
Pm Sm
Bi Ra
Hg

4x 10 2

2% 10°

3x 10 ¢

"Br

H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs
W Pt TI Pb Po Fr Se

la Gd
Ha

2x 10t

9x 10°

2% 10 3

7Br

Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn
Y Zr No Tc Ru Rh Pd Cd In Sn Sb Ce Pr
Eu Tb Dy Ho Er Tm Yb Lu HF Ta Re Os Ir
Ac Th Pa Np Pu An Cm Bk CFf Es Fm Md

Ga
Nd
Au

Ge As
Pm  Sm
Bi Ra
Hg

2x 10t

9x 10°

1x 10 3

"Br

H Li Na Si P K Ni Rb Sr Mo Ag Te I Cs
W Pt TI Pb Po Fr Se

la Gd
Hg

2% 10°

4x 10

2x 10 ?

"Br

Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn
Y Zr No Tc Ru Rh Pd Cd In Sn Sb Ce Pr
Eu Tb Dy Ho Er Tm Yb Lu HF Ta Re Os Ir
Ac Th Pa Np Pu An Cm Bk CFf Es Fm Md

Ge As
Pm Sm
Bi Ra
Hg

1x 10°

4x 10*

1x 10 2

DBy

H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs
W Pt TI Pb Po Fr Se

la Gd
Ha

2x 10°

3x 10

2x 10 2

DB

Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn
Y Zr No Tc Ru Rh Pd Cd In Sh Sb Ce Pr
Eu Tb Dy Ho Er Tm Yb Lu HF Ta Re Os Ir
Ac Th Pa Np Pu An Cm Bk CFf Es Fm Md

Ga
Nd
Au

Ge As
Pm  Sm
Bi Ra
Hg

1x 10°

3x 10

1x 10 2

H Li Na Si P K Ni Rb Sr Mo Ag Te I Cs
W Pt TI Pb Po Fr Se

la Gd
Hg

4x 10t

7x 10°

3x 10 3

Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn
Y Zr No Tc Ru Rh Pd Cd In Sn Sb Ce Pr
Eu Tb Dy Ho Er Tm Yb Lu HF Ta Re Os Ir
Ac Th Pa Np Pu An Cm Bk CFf Es Fm Md

Ge As
Pm Sm
Bi Ra
Hg

2x 10 !

7% 10°

2x 10 ®

&Br

H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs
W Pt TI Pb Po Fr Se

la Gd
Ha

3x 10 2

2x 10°

3x 10 4

82Br

Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga
Ge As Y Zr Nb Tc Ru Rh Pd Cd In Sn Sb Ce
Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu Hf
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu Am Cm

Bk Cf Es Fm Md Hg

2x10 2

2x100

2x10 4

83Br

H Li Na Si P K Ni Rb Sr Mo Ag Te
La Gd W Pt TI Pb Po Fr Se
Hg

Cs Ba

7x10 1t

2x10t

7x10 3




(Bg cm?)
(Bg cm?d) (Bg cm?d)

®Br Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As [3x10* 2x 10 3x 10 ®

Y Zr No Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm

Eu Tbo Dy Ho Er Tm Yb Lu HF Ta Re Os Ir Au Bi Ra

Ac Th Pa Np Pu An Cm Bk CF Es Fm Md Hg
“gr H Li Na Si P KNi Ro Sr Mo Ay Te I Cs Ba La Gd |5x 10 * 1x 10! 5x 10 3

W Pt TI Pb Po Fr Se Hg
¥Br Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As [3x 101 1x 10 3x 10 ®

Y Zr Nb Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm

Eu Tbo Dy Ho Er Tm Yb Lu HF Ta Re 0Os Ir Au Bi Ra

Ac Th Pa Np Pu An Cm Bk CF Es Fm Md Hg
Sy H Li Na Si P KNi Ro Sr Mo Ay Te I Cs Ba La Gd |1x 10° 4% 10! 2x 10 ?

W Pt TI Pb Po Fr Se Hg
gy Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As |1x 10° 4x 10 1x 10 2

Y Zr No Tc Ru Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm

Eu Tbo Dy Ho Er Tm Yb Lu HF Ta Re Os Ir Au Bi Ra

Ac Th Pa Np Pu An Cm Bk CF Es Fm Md Hg
[7kr | [1x 10 * | le6x 10 ¢
[=r | [1x 10 * | |5x 10 ¢
e | |ax 10 * | |2x 10 *
[7kr | [2x 10 | [7x 10 ¢
[mxr | l6x 10 * | 3x 10 @
[ | [3x 10t | [1x 10 *
[k | 1x 10° | 6x 10 *
[=Kr | [3x 10° | |1x 10t
[ | 3x 10t | l1x 10
[k | [1x 10° | |5x 10 @
[oke | [x10t | 8x 10 4
[Br | [7x 10 2 | [3x 10 ¢
[ | [7x 10 2 | |3x 10 ¢
[*r | [1x 10 * | |5x 10 ¢
|Rb | 2x 10° 3x 10" |2x 10 2
[™Rb | l6x 10 |1x 10t l6x 10 @
R0 | [7x 10 [2x 10t [7x 10 @
R0 | [1x 10t [2x 107 [1x 10 *
[eRD | [3x 101 |2x 10t 3x 10 *
[®Rp | [2x 10° |ox 10t |2x 10 2
[#%R0 | [7x 10° 1x 107 [7x 10 2
R0 | |ox 10 2 [7x 10° |1x 10 @




(Bg cm?)

‘ (Bg cmd) (Bg cm3)
R0 | |2x 10 2 Bx10!  |2x10*
R0 | l1x 10 2 3x10 ! |1x 10 ¢
[*Rb | [2x 10° 1x 102 [2x 10 2
[eeRD | |2x 10 2 3x 10t  [1x10*
[*Ro | 3x 10 2 lex10!  |2x10*
(R0 | [7x 10 l9x 10° [7x 10 @
[*RD | l8x10 1 [2x 10" 8x 10 3
*Ro | 3x 10° ax 10t |3x 10 2
[®sr | |2x 10 2x 10° |2x 10 @
|5 | l1x 10 2x 10° 8x 10
[Bsr | Bx10t  [1x 10" [6x 10 3
[esr | 3x 101 |1x 10" 3x 10 3
sy | l6x 10 @ 1x10!  |5x10°
[eesr | 3x 10 @ 1x10!  [1x 105
[®=sr | <102  [2¢ 10° [7x 10 ¢
[=sr | ax 10 2 2x 10° 3x 10 4
[=sr | |ax 10 2 1x 10° [3x 10 ¢
[ssr | 3x 10 2 1x 10° |1x 10
s l |4x 10° 1x 102 [ax 10 2
[esnsr | |3x 10° 1x 102 3x 10 2
[Fsr | lox 10 * 3x 10" |1x 10 2
[emgr | l6x 10 3x 10t |ex 10 @
[=sr | [1x102  [3x10'  [1x10°*
s | l4x10°®  [3x10'  [2x10°
|sr | [7x 10 ¢ 3x 102 |5x 10 °
|0gr | 3x 10 ¢ 3x 102 |8x 10 7
sy | <102  [1x 10° [7x 10 ¢
|sr | ax 10 2 1x 10° 3x 10 4
|2sr | |1x 10 * 2x 10° |1x 10 @
|2sr | l6x 10 2 2x 10° 5x 10 ¢
% | 1x 102 1x 10° lox 10 *
[eey | 1x 102 1x 10° |ox 10
[y | |2x 10 [7x 10° |2x 10 @
[y | |2x 10 7% 10° |2x 10 @
[y | [1x10t  [4x 10° [1x 10 3
[y | l1x 10 * ax 10° |1x 10 @
[y | 8x 10 ? 2x 10° [7x 10 ¢




(Ba

‘ ‘ cm3)
(Ba cmd) [(Bg cmd)

[f=ny | [8x 102 |2x 10° [7x 10 ¢
[y | [3x102  |ox10®  [3x10°*
[fBy | [3x102  fox10!  [x10*
[eeny | lax10 1 |2x 10! ax 10 *
[eeny | [4x 0t |2x 10t lax 10 @
[ery | lax 102 |2x 109 3x 10 ¢
[Ty | [4x102  [2x 10° 3x 10 ¢
[y | [1Ix10*  |ax 10° lox 10 4
[y | [1x10t  |4x 100 8x 10 ¢
[y | ex10°  |7x101  [3x10°
[By | [7x103  [7x10!  [3x10°
[0y | [1x102  [3x10! [ex10°
[y | [1x102  [3x10* |8x10°
[somy | [2x10 1 |5x 10° l1x 10 @
[y | [x100  [5x10° [1x 10 °
oy | lx10° [3x10! |2x10°
[y | [3x10°  [3x10® |1x10°
[eamy | [1x 10° 8x 10t l1x 10 2
IleY | |1>< 10° |8>< 10t |1>< 10 2
2y | lex 102 [2x 10° [7x 10 ¢
= | 102 [2x10°  |[6x 10 ¢
[y | lax102  |7x101  [3x10¢
|5y | [3x102  |7x10!  [3x10*
|2y | [5x10t  |1x 10" ax 10 *
Y | [Bx10 1 [1x 10° [4x 10 3
[y | [sx 101 |2x 10t 8x 10 @
[y | [8x10t  [2x 10t [7x 10 3
®7r 1x 10° 2x 10t 1x 10 2
[*zr | [8x10t  [2x 10t 8x 10 3
[e=zr | l8x 101 |2x 10! [7x 10 *
®7r 4x 10 ? 1x 10° 4x 10 4
|eezr | [3x 102  |1x 10° 3x 10 4
[%zr | [3x 102 |1x 10° [3x 10 ¢
&7r 3x 10 * 4x 10° 3x 103
iz | [1x10  [ax10° [1x 10
oz | [1x10  |ax10° [1x 10 3




|
(Ba
cmd)
(Bq cmd) |(Bg cnd)

®7r 5% 10 * 2% 10° 4x 10 °
[eeze | [1x102  [2x 10° 5% 10 °
=zr | [1x102 [x100  [3x10°
®7r 4x 10 2 1x 10° 4x 10 *
=zr | [x102 [1x100  [x10°
zr | [3x102  |1x 10° 2x 10 ¢
“zr 7x10 ¢ 1x 10° 6x 10 ©
<zr | [3x10°  |1x 10° 12x 10
“zr | [1x102  [1x10° lax 10 5
7r 102 [ox10!  [5x10°
=zr | [6x10°  [ox10* [3x10°
=zr | [x10°  [ox10 '  [2x10°
Zr 3x 10 2 4x 10 * 3x 10 ¢
|7zr | [2x102  |ax10®  |1x10 4
zr | 1x102 [4x20° [1x10 ¢
=N\ | |ax 10 [1x 10t lax 10 °
(=0 | [4x 10t [1x 10t l4x 10 °
ENo( 1x101  [3x10° 1x 10 2

2.03
SNb( 1x 101 3x 10° 1x 103

2.03
No( 2x 10 1t 6% 10° 2x 10 8

1.10
™\ | [x102 [x10° [x10°
b | [x102 [0 [2x10°
b | Ix10 '  [x100 [ax10°
[N | <102  [x100  [x10°
[*™Nb | [7x10°  [2x10° l4x 10 °
No | lx10° [x10°0  [3x10°
b | [6x10° [ox10° [2x10°
[\ | [1x10° fox10* [sx10°




|

(Ba

‘ ‘ cma)
(Ba cmd) |(Ba cm?d)

Nb | l4x 102  [2x 10° 3x 10 ¢
[N | l4x10 2 [2x 10° 3x 10 *
[N | 7102 [7x 10° 2x 10 *
[ | 2102 |7x 10° 7% 10 ®
[*Nb | 3x10° [5x10! [1x10°
[*No | I8x10 4 [5x10!  [3x10°©
[*Nb | 4x 10" 1x 10° 3x 10 *
PN | 4x 100 [1x10°  [3x 10!
[*Nb | 2x102  |1x 10° 8x 10 °
[N | 2x10 2 [1x 10° 7% 10 ©
[ | 3x102  [1x 10° 2x 10 *
[ | 2102 |1x 10° 11x 10 ¢
[*®Nb | 2102  [8x10! [2x10 ¢
[N | 2x102  [8x10! [2x10 ¢
[Nb | 3x10t  [1x 10" 3x 10 3
[N | 3x 101 |1x 10 3x 10 °
™D | 2x 10" 6x 107 [2x 10 !
™ | [1x 10t 6x 107 [1x 10 !
[®ND | 2x10t  [gx 10° 2x 10 3
[N | 2x101  |8x 10° 2x 10 @
"No | | 100

®o | l x10 |

[*NMo | 7102 | 8x 10 *
Mo | l4x102 | 3x 10 ¢
K | 100

o | I x|

Mo | lx10t | lox 10 3
Mo | lex 10t | l6x 10 °
o | | B0t |

Vo | I 3x10' |

Mo | 1x102 | 1x 10 *
[0 | x102 | l6x 10 °
¥ | | Bx10° |

W | l <1 |

Mo | 1x10t | 1x 10 3
[0 | 7102 | 7% 10 ¢
Mo | | x100 |




(Ba

‘ ‘ cmd)
(Ba cmd) |(Bu cmd)

Mo | | x100 |

[*Mo | lex102 | 5% 10
[*Mo | [x102 | [1x 10 #
oo | | 2x 10t |

o | | 2100 |

[0 | lsx10t | 8x 10 @
[0 | [sx10t | [5x 10 3
| | x 10t |

o | | x100 |

[1220 | lsx10t | [7x 10 @
[0 | [sx10t | [5x 10 3
|®Te | [3x 10t |2 10" |ax 10 3
|®Tc | [3x10t  [2x 10! [3x 10 2
[=e | [sx 101 [ax 10 8x 10 @
[=Te | [7x10t  ax 10t [7x 10 3
*Tc | [1x10t  |ax 10° [1x 10 3
*Te | [x10 2 [ax10°  |[9x 10
[o#rc | [3x101  [8x 10° [3x 10 @
[*Tc | [3x10 1 [8x 10° [3x 10 3
|=Te | [1x10*  [5x 10° |1x 10 3
|*Tc | [1x10t  [5x10° |1x 10 2
=T | lax102  [x100  [ax10°
[%=Te | [x102  [2¢ 10° |1x 10 #
|®Tc | [2x102  [8x10' |2x10¢
|*Tc | [x102 [8x10' |2x10¢
[®e | [2x 10° 7% 10t |2x 10 2
[*Te | [2x 10° 7% 10" [2x 10 2
['Te | [3x10*  |1x 10" 3x 10
|"Tc | [1x10t  [1x 10! |6x 10
[ome | [5x 102 [1x 10° |ax 10
G | [8x 103 [1x 10° |ax 10 5
|®TC | [1x102 ax10!  |1x10 ¢
|®Tc | [3x10° |4x10! |2x10°
T | [Bx102 [ix10°  [ax10*
[*Tc | [7x103  [1x 10° [3x 10 5
=rc | [x 100 [4x 100  |ox 10 ?
|*=Te | [7x10t  [4x 10! |6x 10 2




(Ba

‘ ‘ cmd)
(Ba cm3) |(Ba cm?d)

[7e | 1x 10° |4x 10 |1x 10 2
[107¢ | [1x 10° ax 10t [1x 10 2
[e1e | 1x 102 1x 10° 1x 10°
[eere | 1x 102 1x 10° 1x 10°
[oe7c | 5x10 ! |1x 10* 5x 10 °
Tc | 4x 101 |1x 10 l4x 10 3
[*Ru | l4x10t | 2x 10 3
[*Ru | lax10 1 |ox 10° lax 10 ®
[*Ru | 3x10 1 |ox 10° 3x 10 °
[*Ru | I3x10 1 |ox 10° 3x 10 3
[%Ru | Bx10t | 3x 10 3
=Ry | l4x 10t |1x 10t l4x 10 °
[%Ru | 3x10 ! |1x 10* 3x 10 °
%Ry | I3x 10t |1x 10t 3x 10 3
[Ru | <10t | 1x 10 3
Ry | 2x 10t |6x 10° 2x 10 @
[Ru | 1x10'  |6x 10° |1x 10 °
Ry | 1x10t  |6x 10° l1x 10 3
=Ry | 2102 | 1x 10 *
[oeRy | 3x 102 |1x 10° 2x 10 ¢
=Ry | 1x10 2 |1x 10° 5x 10 °
[y | lox 10 3 |1x 10° lax 10 °
=Ry | 1x10t | [7x 10 *
=Ry | 2x 10t [3x 10° 2x 10 @
=Ry | l9x10 2 [3x 10° [7x 10 *
[125Ry | I8x 10 2 [3x 10° [7x 10 ¢
Ry | 1x103 | l6x 10 ©
[oeRy | 2x10°® |1x10! [1x10°
Ry | 1x10° |1x10'  |4x10°
[105Ry | l6x10 ¢ [1x101  |2x 10
|Rh | 710t [2x 10" 8x 10 3
|"Rh | 5x 101 |2x 10t 5% 10 2
|Rh | Bx10 ! |2x 10' 5x 10 °
|Rh | l6x10 1 [2x 10t l6x 10 °
[TRh I lix10 0 [2x 100 [ax10°
|Rh | l4x 10t |2x 10t l4x 10 °
|*Rh | 1x 10° 2x 10 |1x 10 2




(Ba

‘ ‘ cmd)

(Ba cm?) [(Bg cm?)
|‘*’Rh | |9>< 10! |2>< 10 |9>< 10 @
|98Rh | |9x 10t |2>< 10* |9x 103
|99Rh | |4>< 10 2 |2x 10° |4x 10 4
|99Rh | |3x 10 2 |2x 10° |2x 104
|99Rh | |2>< 10 ° |2>< 10° |1>< 10 *
|99”Rh | |4x 10t |1>< 10* |4x 103
|99th | |3>< 10 * |1x 10* |3x 10 3
|99'“Rh | |3x 10 * |1x 10* |3x 10 3
|1°°Rh | |4>< 10 ° |1>< 10° |4>< 10 *
|1°°Rh | |3x 10 2 |1>< 10° |3x 10 4
|1°°Rh | |3>< 10 2 |1x 10° |3x 10 4
|1°1Rh | |1x 10 2 |2x 10° |9>< 10 5
|1°1Rh | |1>< 10 ° |2>< 10° |5>< 10 ®
|1°th | |7x 10 3 |2>< 10° |2x 10 °
|1°1’”Rh | |1>< 10 * |4x 10° |1x 10 3
|1°1'”Rh | |8x 10 2 |4x 10° |6x 104
|1°1’”Rh | |8>< 10 ° |4>< 10° |6>< 10 *
|1°2Rh | |2x 10 3 |4>< 10 * |2x 10 °
|1°2Rh | |4>< 103 |4x 10 ! |2x 10 °
|1°ZRh | |2x 103 |4x 10 * |7x 10 ©
|1°@“Rh | |1>< 10 ° |7>< 10! |8>< 10 ®
|m“Rh | |8>< 10 3 |7>< 10 * |3x 10 °
|1°2“Rh | |5>< 103 |7x 10 ! |2x 10 °
|1°°“Rh | |2x 10* |2x 107 |1x 10!
|1°°“Rh | |9>< 10° |2>< 107 |5>< 10 ?
|1°"“Rh | |8>< 10° |2>< 107 |5x 10 2
|1°5Rh | |1>< 10 * |2x 10° |1x 10 3
[1%5Rn | 5x10 2 [2x10°  |4x 104
[=Rn | [5x102 [2x10°  [3x 10 *
|'%5Rh | [2x 100 [3x 10  [2x10°
[“eRh | [2x 10t [3x 107 [2x 10




(Ba

]
(Bqg cmd) |(Bg cmd)

|106Rh | |2>< 10 |3x 10? |2x 10!
[ogy | [2x10*  [5x 10° |2x 10 @
IloemRh I |1>< 10 ¢ |5x 10° |1x 103
|1°6'“Rh | |1>< 101 |5x 10° |1x 10 3
|1°7Rh | |1>< 10° |3x 10 |1x 10 2
[ | [8x 10+ [3x 100 [7x 10 @
|1°7Rh I |7>< 10 ¢ |3x 10t |7x 103
|98pd | |7>< 101 |1x 10 |7x 10 3
g | [Bx10*  [1x 10" lax 10 @
e | [ax10* [1x 100 lax 10 @
[%pd | [ox 10 * [2x 10* lox 10 @
[ | 6x10 1 |2x10t  [6x 10 °
g | [6x10*  [2x 10t lex 10 ®
fopg | [x102 |ox10® |[2x10°
[0pg | [x102  jox10! [1x10*
[o0pg | [2x102  |ox10! |1x 10 ¢
[P | [3x10%  |ox10°  [3x 103
fopg | [x10°  [ox10°  [2x10°
|1°1Pd I |2>< 10 ¢ |9x 10° |2x 103
[i5pg | [2x107  [ax1®  [1x 103
[%pg | [x102  [ax10  [3x 10
1% | [7x102  |ax1®0  [3x 10
|1°7Pd I |6>< 10 ¢ |2x 10t |5x 103
|1o7pd | |4>< 101? |2x 10 |1x 103
|1°7Pd | |7>< 10 2 |2x 10 |2x 10 4
| | 1x10!  [1x100  |ox 10 4
|1°9Pd I |4>< 10 2 |1x 10° |4x 10 4
" | l4ax102  |1x10°  [3x 10 ¢
[tipg | [1x 10° 2x 10 lox 10 @
[iipg | [6x101  [2x100  [5x 103
E I [Bx 10 [2x100  [5x 10 °
e | [3x102 [3x10* [2x10*
[tzpq | [1x102 [3x10! |1x10*
[izpq | [1x102 [3x10! [1x 10 ¢
[1iag | [1x10°  [3x 100 [1x 102
[itpg | lox10 1 [3x 100 8x 10 *
[ieag | [x 10 * [2x 10t lox 10 @




(Ba

|"“Ag ‘
g l
{mAg I
103
Ag
e
|m4/:2 | cm?d)
104,
|
o e
oy | [7x 10 * 2x 10 DT
| Ag |7x |2>< |7x : |
g | i o -
[fo% | 5% 10 * S o
|105A/:;g | |5x 10 * |2x 10" -
g | fax 10 ¢ 2x 10 —
[15g | [3x 10 |1x 10" -
[t | [3x 10 1 o o
|105mAg | [7x 10 1x 10t o
ImAg | x 10 ° - =
|106Azg | [5x 10 * 2x 10t o
[ng | [3x 10 2 2 oo
[19epg | [3x 10 2 2x 10° ok
e | fax 10 2 2x 10 =
ImﬁmAg | 1 10 [2x 10 -
llmﬁg | [1x 1 zo 7
ImAg | = 10 (2 10° .
ImAg | x 10° — =
|109AAg | [8x 10 * 3 10t ro
IlmAg | [8x 10 e w5
|mmAg | [1x 10 2 3x 10t -
|mAg | |1x 10 2 |6x 10 * ==
ImnAg | [1x 10 2 lox 10 * =
llm’*g | 5% 10° Sk v
|109“Ag | [5x 10° 2x 10 L
|mAg | 5% 10° 2x 107 ok
|110;A\2 | [3x 10 3 |2x 10 e
IUDAg | |4X 10 3 I4>< 10 ¢ |5>< 10 2
[taon | |1x 10 2 |ax 10 * sz -
|mﬂAg | |ax 10t |4x 10 * _—
Ag | |ax 10t [5x 10° |ax 10 ©
[ax 10t |5x 10° o
|3x o |5X o I4x 10 *
2x 10t 5% 107 CrE
sz v |5x o |3>< 10 *
|3x 10 3 ISX 102 |2x -
|ax 10 3 [3x 10 * sz -
[3x 10 * =
|2x 10 ®




(Ba

‘ ‘ cmd)
(Ba cmd) [(Bg cm?)

g | [3x10° [3x10° [1x10°
|tiag | lax102  [ex10! [3x10*
[1ag | [1x102 [ex10° [8x10°
g | [1x102 fex10t [7x10°
g | [x 12 [x100  [x10*
g | [7x 100 [x10°  [5x 10 *
[aag | [1x100 [2x 100 [ax 10!
g | [1x10*  [2x10°  [1x10°¢
(g | [Bx102 [2x10°  [7x10*
g | [Bx102 [2x10° [7x10°
[23ag | 107 [2x 100 [2x10°
=g | [ox102 [x100  [7x 10
ag | lex102 [x100  [7x10°
ong | [x 100 |ax 10?2 [2x10*
[mng | [1x100  [ax 12 [1x10!
[mong | [1x100 [ax 10 [1x 10t
[=ag | lex10 [1x100  [x10°
g | [x10 ' [1x100 [4x10°
[=ag | [x101 [1x100 [ax10°
Pcd | | l2x 100 |

[cd | lax10t | 5x 10 3
o | lx10t | [3x 10 ¢
[ocd | [3x10t | 3x 10 3
| | 2x 10|

=g | [7x10t | [7x 10 ®
|15 | [sx101 | 5x 10 °
[=ed | [Bx10t | 5% 10 3
. | o |

[cd | [sx10t | 5x 10 °
[17cq | [2x101 | l1x 10 ®
[oed | [x10t | 2x 10 ®
Poa | | w0 |

=g | [x10° | |2x 10 ®
feed | lx10% | 2x 10 3
[=ed | [sx103 | [2x 10 °
wod | | lex 100 |

rod | [1x100 | 1x 10 2




(Ba

N
(Bg cm3) |(Bgq cmd)

[frcq | lex10! | |6x 10 @
[meg | l5x10 ! | sx 10 @
ed | l ax10? |

[130g | l1x10 4 | |1x 10 ©
[2%cd | 5x 10 ¢ | [2x 10 ¢
[130q | l1x10° | s5x 10
ed | l ax10? |

[mmcg 2x 10 ¢ | |1x 10 ©
[1cq | 5x 10 ¢ | [3x 10 ¢
[mcg | lox10 ¢ | |ax 10 ¢
ed | l x10' |

|50 | lax10 2 | 3x 10 ¢
ed | 2x107 | [1x 10
el | 2x102 | [1x 10 ¢
ed | l x10! |

[umcg I3x 10 ° | |2x 10
[1=ncq | l4x10° | [2x 10 *
[mcg | lax10° | [2x 10
ed | l 100 |

[7cd | 2x10! | |2x 10 @
[w7cd | lox 102 | [7x 10 ¢
[17cq | l8x 102 | [7x 10 ¢
red | l 100 |

[umcq || 1x10! | |1x 10 @
[1meq | 7x102 | |6x 10 ¢
[omcg | 7x102 | 6x 10 ¢
ed | l ax 100 |

|15 | 3x10! | 3x 10 @
150 | 2x10! | [2x 10 @
|15 | x10t | |1x 10 @
[“1n | [x 10t [2x 10t 8x 10 3
71 | 5x 10 ! [2x10*  |5x 10 °
[e1n | 3x 101 [1x 10" [3x 10 @
[1egn | 2x10 ! [1x 10t  |2x 10 3
[eEngn | [4x10* [1x 10" [5x 10 3
[y | 3x 10! [1x10*  |3x 10 °
[1n | l4x 101 [1x 10" ax 10 @




(Ba

‘ ’ cmd)
(Ba cmd) [(Bg cmd)
[®In | Bx10*  [1x 100 [3x 10
[ | 3x 100 [1x 1°  [3x 10
[*In | 2x 100 [1x 16°  [2x 10 *
opn( 9x 10 2 |4x 10° 1x 10 3
4.90
)
o 1114 8x 10 ? 4x 10° 9x 10 *
4.90
)
In( 4x 101 [8x 10° 4x 10 3
1.15
)
n( 3x 101! 8x 10° 2x 10 3
1.15
)
[ | lox 102 [3x 10°  [ox 10 ¢
[H1n | 7x10 2 [3x10°  [5x 10 ¢
"1 | [7x 10 [3x 12 [8x 10 2
[0 | lbx 100  [3x 17 [6x 10
[124, | 2x 10 [8x 100  [3x 10 2
%21 | 2x10°  [8x 10 [2x 10 2
[0 | x 10 [5x 100 [1x 10 2
[12g | l6x10 ' [5x 100 [6x 10 °
[=p | 1x 10 [3x 100  [1x 10 2
[ | 7x10* [3x10°  [6x 10 °
[%1n | lox 10 [3x 12 |9x 10 2
% | Bx 100  [3x 1¢  [9x 10
B | 2x10° [2x10% [1x10°
[1n | 3x10 ! [1x 100  [3x10°
[ | 3x 100 |1x 1°  [3x 10
%I | 2x 100 [1x 16°  [2x10 *
opn( 9x 10 2 |4x 10° 1x 10 3
4.90
)
o 1114 8x 10 ? 4x 10° 9x 10 *
4.90
)
In( 4x 101 [8x 10° 4x 10 3
1.15
)
N 3x 101! 8x 10° 2x 10 3
1.15
)




(Ba

‘ ‘ cma)
(Ba cm3) [(Bag cmBd)

[11n | lox 102 [3x10°  [9x 10 *
[2gn | [7x102  [3x 100  [5x10 ¢
[ty [7x 100 [3x 12 [8x 102
[ty | [6x 100  [3x 102 [6x 10 2
[224n | [x10°  [8x 100 [3x 102
|24, | [2x10°  [sx 100 [2x 10 2
[mogy | [1x 100 [5x 100 [1x 102
[y | l6x 101 |5x 100 [6x 10 ®
[y [1x 100 [3x 100 [1x 102
[z | [7x10 1 [3x 100  [6x 103
[141n | lox 10 [3x 102 [9x 102
141 | [8x 100 [3x 102 [9x 10 2
[wagy | [x10° [2x10' [1x10°
EXT lax10° [2x 101 [2x 105
[#51n | [Bx10°5 [3x102 [3x107
[min | [2x104 [3x102 |8x 107
[wgy | [5x10! |ox10°  [5x10°
[usgy | [2x10 1 fox 100 [2x 103
[#mn | [ax 100 [x 108 [ax 10!
|59, | lax 100 [7x 12 |4x 10!
| lx107 [1x100  [ax10°
[y | [3x 10! [1x100  [3x 103
[#71n | [7x10t  [3x100  [8x10°®
[271n | lax 101 [3x 100  |4x10®
rn | x0T [7x 100 [ax10°
T [2x10 1 [7x 100 [2x 103
181 | [1x 12 [2x 100 [1x 10°
[28g, | [1x 12 [2x 10 |1x 10°
[2°1n | [4x 100 [2x 12 [5x 102
[1og | lax 100 [2x 102 [4x 10 2
[y [1x 100 [2x 100 [1x 102
[ty | [7x10*  [2x 100 |7x10®
1830 1x 10° 4x 10t 1x 10 2
|1ce5, | [1x 100 [ax 100 |1x 102
1%9n 1x 10° 4x 10t 1x 10 2
s | lox 101 |ax 100 [1x 102
10gn 1x 10 * 2% 10° 1x 10 3




(Ba
cmd)
(Ba cmd) |(Bg cmd)
195 l8x 102 |2x 100  [7x 104
™sn 1x 10° 4x 10* 1x 10 2
[115n lox 10t |ax 10t  [9x 103
35n 3x 10 2 1x 10° 2x 10 4
[135n [1x10? |1x10° [5x10°5
150 7% 10° 2x 10° 6x 10 2
15 [4x 10 |2x 10?7 [3x 10 2
HSn 5x 10 2 1x 10° 4x 10 *
[1sn l[9x 10® |1x10° [5x 105
150 6x 10 2 2x 10° 4x 10 *
[1ngn [1x102 |2x10°  [6x 105
23n 2x 10 1 |4x 10° 2x 10 3
[215n [7x 102 |ax10°  [5x 10 *
250 2x 10 2 2x 10° 1x 10 ¢
|25 l6x 0% |2x10° [3x10°5
23n 1x10% |4x10*' |9x10°
[=sn [4x 0% |ax10! [2x10°
2150 9x 10 * 2x 10 9x 10 3
[Zn5n [5x10 |2x100  [4x 103
23n 2102 [3x10' (1x10*
[2=sn [7x10° [3x10! [4x10°
2050 2% 10° 4x 10t 2x 10 2
[Z=n5n [1x 10 |4x 100 [1x 102
23n 1x 10 @ 2101 |1x 10 %
[255n [1x10° |2x10! [4x10°
2sn 2x 10 1 |4x 10° 2x 10 3
|127Sn |1>< 101 |4>< 10° |9>< 10 4
23n 2x 10 * 6x 10° 2x 10 3
[2E5n [1x10® |ex10° [1x 103
“=sb [1x 100 [ax 100 [1x 10 2




(Ba
cmd)
(Bg cm?) [(Bq cm?d)

) lox10 *  [4x 100 |9x 10 ®
uogp 1x10°  (3x 100 |1x 10 2
[155p lox10 *  [3x 100 |9x 10 ®
uegpy 3x10%  |1x 10t |4x 10 °
(15 [2x10* 1x 100 [2x10®
g 1x10° 5% 100 |1x 10 2
[77Sh |8x10 *  [5x 100 |7x 10 ®
usgp 4<10°  |7x 10t |4x 10 ?
[155p [3x 100 [7x 100 [3x 10 2
ungp 1x10 1 [4x10°  |1x 10 ®
) [x102 [ax10° [1x10°
u9gp 510 ' |1x10'  |5x 10 °
[195p [4x10 * 1x 100 [3x 10 ®
28p( 2102 7% 10 [2x10 4

5.76

)
25p( 2102 7% 10 |1x10 4

5.76

)
205h( 2% 10° 6% 10t 3x 10 ?

0.265

)

205( 2x 10° 6x 10 2x 10 2

0.265

)

) 3x10% [5x10' [3x10*
[Zsp [2x102  [5x 10 |1x 10 *
245 1102 (3x10* |9x 10 °
[2Sh [4<x10°% [3x10% [2x10°
24gp( 310 |1x10°  [3x10?

93

)

2gp( 2<10'  [1x10°  [2x 10}

93

)

2angh( 4x 10° 1x 107 4% 10 ?

20.2

)




| (Ba
cmd)
(Bg cmd) |(Bg cmd)
125y 1x102 [8x10! [9x 105
=5 | l6x10° [8x10! [3x10°5
12g)) 1x102 [4x10! [1x10*
[z | 7x10° |ax10! |ax 105
1G]y 9x 10 ¢ [2x 100 [1x 10 2
|rspy | l6x10 1 [2x 100 |ex 10 3
17g)) 3102 [5x10' [3x10 ¢
75 | 1x102 [5x10! [7x 105
128g0( 510 2 [1x 10°  [5x 10 ¢
9.01
)
1255 3x 102 [1x10°  [3x 10 ¢
9.01
)
Zsh( 1x 10° 3x 10 1x 10 2
0.173
)
28sh( 8x 10 ' |3x 10* 8x 10 @
0.173
)
125g)) 1x10 [2x100  [1x 103
=g | l6x10 2 [2x10° [5x 10 *
120g)) 310+ [ox 10° [3x 103
|15 | 2x10 1 |ox 10° [2x 10 3
Bigy 4x10 1 [Bx10°  [3x 102
|15 | 3x 101 [8x10° [3x 10 3
[1°Te | 2101 | |1x 10 3
[15Te | 2x10 ! [5x10° [2x 10 3
[15Te | 110! [5x10° [1x10°®
“"Te | 7x10t | l4x 10
"Te | Bx10 1 [2x100 [6x10°
[#Te | lax 101 [2x10'  [4x 10 3
[12Te | 1x10 2 | l6x 10 *
[1ere | 1x102 [3x10! [1x10*
[25Te | 9103 [3x10! |5x10°




(Ba

‘ cmd)
(Bg cmd) |[(Bg cmd)

[o1e | 2x10t | 11x 10 °
[wore | l1x10 ! |5x 10°  [2x 10 3
[wore | [1x10 ' |5x 10°  [1x 103
[more l3x102 | 2x 10 ¢
[1oTe | 3x10 2 [1x10° [3x 10 *
[uore | 3x 10 2 [1x 10°  [2x 10 ¢
“Te | lx102 | 2x10
[2re 5x 10 2 [2x 10°  [5x 10 4
R 510 2 [2x10°  [3x 10 *
[2Te | l4x 10 | [2x 10 °
“Te | lx10° [4x10' [x10°
[zre l6x10° [4x 101 [3x10°
[=re | 2x103 | 11x 10 °
Zre | 4x10° [x10° [3x10°
[=1re | [7x10° |2x10* |[7x10°
[=re | 7103 | l4x 10
[=Te | 2¢102 [6x 101 [1x10*
[zre | l6x 10 ° |6x 101 [3x 10
[=me | 1x10 2 | [7x 10 °
[=me | 3x102 [9x 101 ([2x10 4
=Te | 7x10° |9x10' [4x 10 °
[zre | I3x 10! | |2x 10 *
[7Te | 3x 101 [5x 10°  [3x 10 3
[7re | 1x 101 [5x10°  [9x 10 ¢
[me | 5x10 3 | 2x 10 °
[zore || 1102 [3x 10 [7x 10
[z | 3x10° [3x 10 [2x10°
[mre | lex10 1 | 3x 10 2
[=1re | 7101 [1x 100 |7x10°
=re | x10 " [1x100  [3x10°°
[=re | l6x 10 ° | 3x 10 °
[=re | 1x102 [3x 10 |[8x10°
=Te | 4x10° |3x10% [2x10°
[re | 3x 10! | |2x 10 *
[a7e | 5x 10 ' |ox 10°  [5x 10 3
e | 3x 101 [ox10° [ax10°
oTe | lox10° | 4x 10 8




(Ba
cm3)

(Bg cmd) |(Bg cm3)

*Te | %102 [ax10' [1x10 ¢
[wre | 1x10? [ax10* [1x10°
“Te | lx10° | [2x10 °
[2re | lx10° [2x10! |[6x10°
[=re | 7x103 |2x10' |6x10°
=re | l4x10t | [2x 10 ¢
[=1e | 5x10 ' |1x 100 [5x 10 °
[=re | l5x 10 1 [1x 100 [6x 10 °
[=Te | 9x10 2 | 5% 10 *
[=re | 2x10 ! [3x10° |1x 10 ®
[=Te | 1x10 ' [3x10° |1x10°®
[0 | 2x101 | [1x 10 3
[*1e | 3x10 1 |7x10° |2x10°
[re | 2x10 ! |7x10° [2x 10 @
|28y | 1x10 ! | l6x 10 ¢
[122) | 2x101 | [1x 10 3
|18y | 210! |4x10° [2x10°
|19y | lax 10t | |2x 10 ®
[19y | 1x 100 | lx 10 @
[159) | l8x 101 [2x 100 [7x10°
e 7x102 | lax 10 ¢
|20} | l1x10 ! | 5% 10 ¢
[0y | 1x10 ' [2x10° |1x 10 °®
T 1x101 | l6x 10 ¢
[y 2x10t | [1x 10 3
T l1x10 ! |4x10° |1x 10 ®
21y | 2x10 ! | |1x 10 @
[y | lax 101 | [2x 10 3
= | 510 1 |1x 10"  |4x 10 °
|2 | l1x 100 | [7x 10 @
2y | [2x 10t | |1x 10 *
[y | I3x 100 [6x 100 [3x 10 ?
) | 1x10t | 5% 10 *
[y | l1x10 ! | [7x 10 ¢
A 10" [ax10  [1x 10
[2#) | 2x 103 | lox 10 ©
24 | 2x103 | |1x 10 °




|

(Ba

‘ cmd)
(Bg cmd) |(Bg cmd)

21 | 3103 |6x102 [2x10°
|25} | l1x10® | 8x 10 ©
[y | l2x10° | |1x 10 ®
[=) | 3x10° |6x102 [2x 10 5
e lBx10 ¢ | l4x 10 ©
|29} | l1x10® | 5x 10 ©
|29y | [1x10° [3x102 [1x10°
[y | I3x 101 | [2x 10
[ | 2x 100 | 8x 10 3
|28y | lox 10 1 [2x 10'  |9x 10 3
=) | 2x10 ¢ | |1x 10 ©
[ | I3x 10 ¢ | [2x 10 ©
e [4x 10 ¢ |9x103 [3x 10 ©
[0 | l1x10 2 | |6x 10
[=0f | l1x10 2 | [7x 10 ®
= x102 [4x10* [2x10°
=1 | 1x 103 | 5% 10 ©
|1ty | l1x10® | [7x 10 ©
e x10° [4x10? [1x10°
= 7x102 | [4x 10 ¢
[=1 | 1x10* | |6x 10 *
|12 | 1x10 ! [3x10° [1x 10 3
[ l8x 10 2 | |ax 10 ¢
[ 1x10t | 6x 10 ¢
[ 2x10 1 |3x10° |1x 103
= | l5x 10 ¢ | [3x 10
=) | 7x10° | [3x 10 ®
[=) | 1x102 [2x10' |[7x 10
[= | 1x10* | 8x 10 *
[=4) | lax10 1 | [2x 10 @
[= | 3x 10! [8x10° [2x 103
=) | 2x102 | 1x 10 ¢
[=1 | 3x102 | [2x 10 *
=) | 5x 10 2 [8x 10! |[3x 10
[oxe | lax10t | [2x 10 @
E l8x 102 | |ax 10 4
[2xe | 3x 100 | |1x 10 2




(Ba

‘ cmd)
(Bg cmd) ((Bg cm?d)

[=xe | 3x10 ' | 11x 10 3
[=xe | lex10 1 | 3x 10 ®
[=xe | [x 100 | [7x 10 @
[7xe | lex10 1 | 3x 10 °
[Zrxe | [1x 100 | 5x 10 3
2 [7x 100 | 3x 10 2
[Bve | [x 10t | lox 10 ?
T l5x 100 | 2 10 2
[=xe | 5x 100 | 2x 10 2
[=xe | lax 10t | |2x 10 *
[=xe | lex10 ! | 3x 10 ®
[xe | lex10 1 | 3x 10 °
[=xe | 1x10 ' | 6% 10 *
[xe | l1x10t | l6x 10 ¢
[2cs | [2x 100 [2x 12 [2x 10 !
=cs | lx 10 [2x 100 1x10 2
s | |6x 100 [1x 102 |6x 10 °
[#cs | [5x10* [4x 100 [6x 10
[=cs | lax 100 |7x 100 [4x 102
E [3x 10 1 [1x 100 [3x 10 ®
[=cs | [1x 10°  [3x 100 |1x 10 ?
E [5x 10 1 |2x 100 [4x 10 3
s | [x10 2 [2x 100 [5x10
E [2x10° [6x102 |[2x10°
[Bcs | |8x 10 1 |4x 100 [8x 10 3
[=cs | [2x102 |6x 101 [2x 104
=es | lx10 % [sx 100 [1x10 2
E [1x102 [3x10% |[1x10*
[=cs | [3x 103 [9x102 [3x10°
E [5x 10 ¢ |ox 10° 5% 10 2
s | [x 100 [x 100 [1x10 2
E 7101 [1x 100 |7x 10 °
[=Ba | 2101 [3x10° |2x10°
[7Ba | [1x 10°  [3x 100 [1x 10 2
[ga | [x102 [3x 10t [2x 104
E l6x 10 1 [2x 100 |6x 10 °
[=Ba | 310 * [1x 100 [3x 10 °




(Ba

| cmd) (Ba (Ba
cm3) cm3)
[=ga | 6x10 2 |2x10° [5x 10 *
[rmgq | [3x 10°  [2x 102 [3x 10 2
[=ga | [1x10? [5x10! |[7x10°
N [7x102 [2x10° [7x 10 *
[=ga | 9x10 2 [2x10° [8x 10 *
[=mgq | [2x 100 [8x 102 [2x 10 *
[=ga | [4x 10t [7x10°  [3x 103
[oga | [1x102 [3x10 ! |[1x10*
B2 | lex 10 1 [1x 100 [6x10°
[ega | l8x 10 1 [2x 10t [8x 10 3
[#=a | [1x 100 [3x10' [1x 10 2
[=a | [1x 100 [3x 100 [1x 10 2
[=a | [1x 10°  [3x 10'  |1x 10 2
[=a | [1x 10°  [3x 10t [1x 10 2
[#a | lox 101 [2x 10t [9x 103
ErE l6x 10 1 [2x 10t [5x 10 @
[®a | [1x10 ' [2x10° |1x 10 °
[=a | [7x10 2 [2x10° [7x 10 ¢
[=a | lox 101 [2x 10t [9x 103
[=a l6x 10 1 [2x 10t [6x 10 ®
[®a | [8x 101 [2x10' |8x 103
[=a | l6x 101 [2x 10t [5x 10 3
[#a | [3x 100 [5x 10t [3x 10 2
ETE [2x 100 [5x 100 [2x 10 2
[=a | [1x 10°  [3x 10'  |1x 10 2
[=a | l8x 10 1 [3x 10t [8x 10 3
[=#a | |ax 100 |9x 10t [4x 10 2
[a | [3x 100 |9x 100 [3x 10 2
Erl 210 ° |1x10* [2x 10 °
[#1a | l9x 10 * [1x 10'  |4x 10
[=a | [1x10 4 [8x10 ! [9x 107
[=a | [5x 10 ¢ [8x 10! [2x 10 °©
v 2102 |4x10 ' [2x10 ¢
[oa | [1x10 2 |4x10! [1x 10 ¢
[ | [x101 [2x10° [2x 103
[ena lox 10 2 [2x10° [8x 10 *
[“a | [2x10 1 |5x10° [2x 10 °




(Bg

‘ cmd) (Bq (Bg
cm3) cm3)
[ea | 1x10 ' [5x10° [1x 103
[ | [1x 10°  [1x 10*  |1x 10 2
[“a | l6x 10 1 [1x 100 |6x 10 3
[ge | 4x 10 1 |1x 100 [3x 10 3
[ce | 3x 101 [1x 10" [3x 103
[oce | lox 101 [3x 100 [8x 10 ¢
[=ice | 9x 10 ' [3x 10" [8x 10 3
e | lox 10 2 [3x10°  [ox 10 *
e | 102 [3x10° |[8x 10 *
[=ce | 3x 10 1 [9x 10° [2x 10 3
[=ce | 3x 101 [ox 10° [2x 10 3
e | 1x 10 1 |4x10° |1x 10 3
e | lx 102 [4x10° [1x 103
E 1102 [3x 10! |9x 10 5
[ce | 1102 [3x10 ! |[9x 10 °
e | 3x 10 2 |1x 10°  [2x 10 ¢
[=ce | 3x102 [1x10° [2x 10 *
EC [1x 10°  [3x 10*  |1x 10 2
[=ce | [1x 100 [3x 10" [1x 10 2
|wce | 4x 102 |1x 10°  [3x 10 *
[rce | 4x 10?2 [1x10° [ 10 ¢
[=ce | 2x 102 [3x10° [7x 10 °
[=ce | [1x10 2 [3x10° [7x 10 °
[ce | 8x 10 ® |1x 10°  |4x 10 ©
[ace | 7103 [1x10° [3x 10 °
[wce | 2x102 [7x10 ! |[2x 10 *
[<ce | 2102 [7x10! |[1x 10 *
[wce | 9x 104 [2x10' [3x 10
[“ce | 710 % [2x10' [2x 10 °
[ece | 5x 10 1 [2x 10*  |5x 10 3
e | [Bx 101 [2x100 [4x10°
e | 4x 10t [1x 100 [4x 10 3
[=pr | 4101 [1x 100 [4x 10 3
[Bepr | lx 10 © [2x 100 [ex 10 °
e | <10 [2x 100 [6x 103
=pr | 5x 10 1 [1x 100 [4x10°
e | [4x10 ' [1x 10' [4x 10 3




(Bg

‘ om?) (Ba (Ba
cmd) cmd)
| B0 [0 pn
opr | [Bx10 © [3x 100 [8x 10 3
ETal l6x 101 [2x10° 6% 10 3
=l l6x10 ' [2x 100 |6x 10 °
Epr | [7x 100 [1x 12 [7x 10 2
=pr | 7100 [1x1° [7x 102
=P | 2210 % [7x10°  [2x 103
=er | <101 |7x10°  |2x 103
| 710 ' [3x10° [6x 10 3
[®pr | 7x10 * [3x 100 |6x 10 3
ooy | [5x 10°  [1x 1 [5x 102
[opr | 5x 10°  [1x 10?2  |5x 10 2
e | [3x102 |6x10 % [2x10*
fepr | [3x102 [6x10 ' [2x10*
e | [2¢ 100 [5x 100 [2x 102
[opr | [2x10°  [5x 100 [2x 10 2
pr | [1x102 [7x120* [6x 10 °
epr | lox10® [7x10 ' |[5x10°
oy | [7x10* [2x100 [7x10°
[epr | [7x10 ' [2¢ 100 |6x 103
[wer | [2¢10°  [4x 10" [2x 102
[P | [2x10°  [4x 100 [2x 102
o | [8x 102 [2x10° [7x 10 “
[®or | l8x10 2 [2x10° [7x10 ¢
[epr | [4<10 1 |1x 100 |4x 103
[wor | l4x 10 * [1x 100 [4x 10 3
IWPI’ I |7>< 101 |3>< 10* |7X 10 @
o | 7x10 * [3x 100 |7 103
[Nd | [4x10 7 [1x 100 [ax10°
Eval l4x 101 [1x 100 [4x 10 3
Eva [2210 ' [ox10° [2x 103
EvE [2¢10 ' |ox10° [2x 103
Eval [4<10 1 |1x 100 |4x 103
EvEml l4x 101 [1x 100 [4x 10 3
Eval l6x 102 [1x10° [5x 10 ¢
EvE |5x 102 |1x 10° [5x 10 ¢
| [1x 100 |4x 100 [1x 10 2




(Ba

‘ cme) (Ba (Ba
cm?d) cm?3)
BNg | [1x 10°  |4x 10" [1x 10 2
[ng | [8x 10 2 [3x 10° [8x 10 *
[=ng | [8x 102 [3x 10° [8x 10 *
Nd | [x102 |ax10! [1x 104
M| [2x102 [ax10' [1x10 ¢
[ang | [2x 10°  |1x 10?7 [2x 10 2
[fand | [2x10°  [1x10? [2x 102
[amg | [3x 100 |2x 10°  |ax 10 *
[fang | [3x 100 [2x10° [4x10?
[eng [4x 10 [2x10 2 [2x 10 ®
hd | [1x10° [2x107 [4x 10 ?
[ng | [1x102 |7x 10! [6x 10 ®
[Nd | [1x102 [7x10 ! [5x10°
[ng | [2x10 1 [7x10° [1x 10 3
[end | <10t [7x10° [1x10°
[=nNg | [7x10 1 [3x 10t |7x 10 @
[=Nd | [7x10* [3x 10t [7x10°
[=ang [5x 101 [2x 10t [5x 10 3
[=nd | [5x 10t [2x 100 [5x 10°
[P | |5x 100 |7x 17  |ax 10 *
[“pm | [5x 100 [7x 107 [4x10?
[t | [ox10 1 [2x 10t [8x 10 3
[epm | [8x 10 1 [2x 100 [8x 10 °
[1epm | [1x 100 [3x 1?0 [1x 10!
[“epm | [1x 100 [3x1* [1x 10!
Pepm | [x107 [ax10° |[8x 10 °
e | [3x10 2 [ax 100 [ox 10°°
e | [4x10° Jox10! [2x10°
[“pm | [5x103 |ox10! [2x10°
P | lx 10 ° [1x10° |[ax 10 ®
[pm | [2x102 [7x 100 [6x 10°
[1epm | [2x 103 |ox 10! [6x 10 ©
[epm | [2103 Jox 10! [8x10°
[epm | [6x 10 ° [3x10° [3x 10 ©
[“pm | [7x103 [3x10° [3x10°
[1epy | [1x102 [3x10! [6x10°
[“epm | [9x103 [3x10! [6x10°




(Ba

cm?d) (Ba (Ba
cm3) cm3)
[P | [5x103 [5x 10 [2x10°
(e | [5x 10 ° [5x 10 [2x10°
[P | 3102 [sx10® [2x10°
[P | [3x107 [sx10 ' [2x10*
[P | 1x10 ' [3x10° [1x10°
(=P | [1x10 © [3x 10° [ox 10 ¢
=P | 3x10 % [1x10° ([3x10*
[P | [3x 107 [1x10° [3x10 ¢
[=2Pm | [2x10°  [5x 100 [2x 107
Pm 2x 1 5x 100 [2x 10
|152 | | ° | | 2
40gm 4x 10 ' [8x 10° |4x 10 ®
l | | | |
[“isn | lBx 10 T [2x 100 |[8x 103
[ | [x10 T [1x 100 [4x 103
o 2101 [ax 100 [2x 10
= | | 100 [ 10°°
s | [2x10° [6x 100 [2x 102
[“esn | [2x10 2 [4x 10° [8x 10 °
s | [3x10° [2x102 [1x10°®
15 | [3x10° [2x102 [1x10°
s | [4x10 ¢ [2x107 [2x10°
=i | lBx 10 ° [gx 10° [3x 10 5
s | 3102 [1x10° [2x 10 *
8 7x10 1 [3x 100 [7x 10
| | | | 7x 10 2
s | 7107 [3x10° [5x10*
“eEu | 3x 10 2 [1x 10° [2x 10
[“eEu | 2102 [7x10' [1x10*
“1g, 2% 10 2% 1 1x 10 4
| | <102 [2x10° |
= | [9x 10 ¢ [7x 10t [5x 105
[“Eu | lox 10 2 [8x 10° [4x 10 *
150 6x 10 ¢ [7x 101 [3x 100
3.2
)
EEY( 7x 102 [2x 100 [ex 10 ¢
12.6
)
= | [8x 10 ¢ |6x 101 [3x 10 ©
= 2x 10°  |6x 10'  |1x 10 ?
9%
)
E2Ey( 7x 10 2 [2x 10° |5x 10 *
9.32
)




(Bg

‘ cmd) (Bq (Bg
cm?) cm?)
S x 10 * [4x10 1 [2x 10 °
ey | 4x 10 [ox 100 [3x 10 2
R [4x 10 ° [3x10° [2x 10 °
e [7x 103 |4x 10 ' |4x 10 °
e | [x 102 [1x10° [ax 10 *
== 3x 10 1 [9x 10° [3x 10 3
[=gg | l6x 10 1 [2x 10" [5x 10 2
ed | l8x 101 [2x 100 [8x 10 ?
Med | <10 © [2x 100 [6x 10 3
[ecq | l4x 10 [9x 10 ! [3x 10 ©
[eed | 5x 10 ° [9x10 ! [2x 10 °
Med | lx 10 2 [1x 10° [4x 10 ¢
|147Gd | |4X 10 2 |1X 10° |3>< 10 4
[eeq | 710 7 [1x 10 2 [5x 10 °
[“d | 3x 10 ¢ [1x10 2 [1x 10 8
e | x 10 2 [2x 10° [4x 10 ¢
[*6d | 3x10 2 [2x10° |2x 10 *
[=eq | 710 7 [2x10 2 [5x 10 °
[=6d | 3x 10 ¢ [2x10 2 [1x 10 8
ed | 2x102 [ax 10° [1x 10 *
Ped | 3107 [4x10° [1x10 ¢
[eq | l9x 10 7 [2x10 2 [7x 10 °
[#ed | l4x10 ¢ [2x102 [2x10 8
[=cd | |8x 10 ® [3x 10° |6x 10 ®
[=6d | 1x10 2 [3x 10° |6x 10 °
[=eq | 1x10 ! [2x10° [1x 10 3
[=d | [5x 10 2 [2x 10° [4x 10 *
[y | 2x10 1 |5x 10° |2x 10 @
[ | 210 ' |6x10° |2x10°
1oy | 5x 10° [2x 107 |4x 10 2
[ | [7x10 ° [3x10° [3x 10 °
[=omp | 1x 10+ [3x 10° |1x 10 @
[=m | 6x10 2 [3x 10° [5x 10 *
[=ery | l4x 10 2 [1x 10° [4x 10 *
[=m | 9x 10 2 [3x 10° [6x 10 *
[=mp | 3x 10 2 |1x 10° |3x 10 *
| Bx 102 [ax10° |[6x 10 ¢




|
(Ba
om?d) (Bq (Bq
cm3) cm?3)

=T | [x102 [1x10 ¢ [1x 10 ¢
T ( 9x 10 2 [5x 10° |6x 10

1.02

)
BETh( 2x 10 ' |1x 100 [1x 103

5.00

)

=T | [3x 10 2 [2x 100 |1x 10 ¢
=T | [7x10 ¢ [8x<10 * [3x 10 ©
[o7 | lax 10 ® |5x 101 [2x 10 ©
[ | [2x10 2 [1x 10° [1x 10 *
=T | [7x 10 |ax 100 |7x 10 3
=Dy | [2x10 * [ax 10° [1x 10 3
[=2py | [2x 10+ |8x 10° [2x 10 3
=Dy | [1x10 * [5x 10° [1x 10 °
=Dy | [3x 106 [2x 102 [1x 10 ®
=Dy | [2x10 * [7x 100 [2x 10 °
[5ipy | lax 10+ |1x 100 |4x 10 3
=Dy | |8x 10 2 [8x 10° [3x 10 *
<y | [2x 10 |7x 10° |2x 10 3
Dy | [1x10 2 [5x 10 * [6x 10 °
[540 | [8x 10 ¢ |2x 100 [8x 10 3
[=Ho | [7x10 * [2x 100 [6x 10 °
=Ho | [2x 10 * [8x 10° [2x 10 °
[*Ho | [3x 10°  [1x 12 [3x 10 ?
[Ho | lex 10 © [5x 100 ||8x 10 @
[=Ho | [2x10°  [1x 12 [2x 102
Ho | lox 10 * [5x 10 |9x 10 3
B | [2¢10°  [6x 100 [2x 10 2
%o | [bx 100 [3x 17 |4x 10 2
[@Ho | [6x 10 * [3x 100 [6x 10 °
=Ho | [1x 10 |1x 102 |5x 10 ¢
"o | 10 [ox 100 [1x 10 2
™ | [1x 100 |5x 100 [1x 10 2
[“Ho | [3x 102 [6x 10+ [2x 10 *
[1eeHo | [3x 10 4 |4x 10 [1x 10 ©
[%Ho | [2¢10 ' [1x100 [2x10°
= | [7x10 * [2x 100 [6x 10 3




(Ba

‘ cme) (Bg (Ba
cm3) cm3)
e | [7x10 1 [4x 10* [7x 10 3
foer | 10" [1x 100 [2x10°
[=er | lox 10° [3x 1 [1x10?
e | [1x 100 |4x 10* |1x 10 2
[y | [3x 102 [5x 10°  [3x 10°
[gr | [2x10 2 [2x10° [1x 10 *
[7er | [7x10 2 [2x 10° [5x 10 *
[mgr | [2x10 2 [8x 10 ! |1x 10 *
em | <10 * [3x 100 [7x 10 °
[oom | [3x 10 1 [2x 10* [3x 10 3
[emm | [7x10° [2x 1 [7x 102
[=m | [7x10 2 [2x 10° |5% 10 *
[orm | [7x10 2 [3x 10° [7x 10 *
[om | [2x10 2 [1x 10° [1x 10 *
[emm | l6x103 [8x 10! [3x 10 ®
om | l4x 10 ® [6x 10! [2x 10
[mm | [2x10 2 [7x10° [ox 10 °
[z | [1x 10 2 [5x 10 ! [1x 10 *
[=m |8x 10 2 [3x 10° [7x 10 *
= | 7101 [3x 100 |7x 10 3
| lox 10 © [4x 100 [9x 10 3
[y | lox 10 1 |4x 10t [8x 10 3
[ovh | [1x 10° [5x 100 [1x 10 2
[y | [1x 10°  [5x 100 [1x 10 2
[=p | [3x 101 [9x 10° [3x 10 ®
[y | [3x 10 1 |9x 10° [3x 10 3
[e=vh | [3x 100 [1x 1 [2x 102
[y | |3x 10°  |1x 107 |2x 10 2
[y | [2x102 [9x 10 ! [2x 10 *
[y | [2x10 2 |9x 10 ! [2x 10 *
[ovp | [2x10° [1x 10 [2x 102
[=yp | [2x 10 |1x 17  |2x 10 2
[=vb | [1x10 2 [1x 10° |[5x 10 ®
| lox 10 * [1x 10° |4 10 °
[=h | [3x 10 2 [2x 10° [2x 10 *
E [3x 10 2 [2x 10° [2x 10 *
b | [2x10 ' |ox 10° [2x 10 °




(Ba

‘ cme) (B (Ba
cm3) cm3)
[vo | 2x10 1 |9x 10° [2x 103
[y | 2x10 1 [7x 100 [2x 10 @
[yp | [2x10 ' [7x 10° [2x 10 °
[y lox 10 * |4x 10 |9x 10 3
[y |9x 10 ' [4x 10" [8x 10 °
I l4x 10 1 [2x 100 [3x 10 @
[Ty l4x 10 ' [2x 100 [3x 10 °
[y l4x 10 2 [2x 10° |3 10 *
[ 1410 2 [2x 10° [3x 10 *
[y | I3x 100 [1x 10° [2x 10 *
[y [3x 10! [1x 10° [2x 10?
[y | 2102 |9x 10 1 [2x 10 4
[ 2x102 |9x 10 ' [2x 10 *
[y 2x10 2 [1x 10° [2x 10 *
[ [2x10 ? [1x 10° [1x 10 *
[y | 1x 102 [7x 10 * |9x 10 °
[ 1x102 [7x 10 * [8x 10 °
ETT l1x 10 2 [3x 10° |6x 10 °
ETT [1x 10 ? [3x 10° [5x 10 ®
[ | 7% 10 * [3x 10° [3x 10 °
[ 8x 10 3 [3x 10° [3x 10 °
EZT l9x 10 ° [2x 10° [3x 10 °
[y | |8x 10 * [2x 10° [3x 10 ®
[y | 5% 10 4 |5x 10 L [2x 10
[P 710 * [5x 10 ' [2x 10 °
ESTI [1x 10 * [5x 10° |1x 10
[y | [1x 10 * [5x 10° [1x 10 °
EI 210 2 [2x 10° |1x 10 *
[ 2x10 2 [2x 10° [1x 10 *
[y | 2x10 ° [5x 10 1 [1x 10 °
[y | [2x10 ® [5x 10 1 [8x 10 ©
[y 5% 10 1 [2x 10 5% 10 3
[ 5% 10 1 [2x 100 [5x 10 3
ESTI l4x 10 1 [2x 100 |ax 10 @
| [4x10 ' [2x 10" [4x 103
| 1x 10 * |4x 10° |1x 10 3
Pl | [1x10 ¢ [ax 100 [1x 10 @
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(Ba (Ba
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[=nf | [ox 100 [3x 102 [1x 10*
[onf | |8x 10° |3x 102 |7x 10 2
[oHf | [7x10 2 [2x 10° [7x 10 *
[ | [6x 10 2 [2x 10° |4 10
HE | lox 10 * [Bx 10 * [ax 10 ©
[f | [2x 10 * |8x 10 * |6x 10 ©
PHE | [2x 10 * [4x 10° [2x 10 ¢
e | lx 102 [ax 10° [7x 10 ¢
HE | 610 7 [4x 10° [ax 10 °
HE | [3x 10 & [4x 10 3 [1x 10 ®
[=Hf | [2x10 2 [2x 10° [2x 10 *
[ | [2x 10 2 [2x 100 |1x 10 ¢
[ | [2x 10 * [1x 100 [3x 103
[ty | [1x 10 * |1x 10 |1x 10 *
[nf | [710 5 [2x10 * |5x 10
[ | [3x 10 ¢ [2x 10 * [1x 10 ©
[ | [1x 10 2 [7x 10 * [1x 10 *
[z | [7x10 3 |7x 10 * [3x 10
[onE | [2x10 * |5x 10° [2x 10 3
[ | [1x 10 * [5x 100 |ox 10 *
[Ef | [1x10 2 [7x 10 * [8x 10 ®
[ef | |5x 10 3 |7x 10 * |3x 10
[=Hf | |6x 10 5 [3x 10 * |4x 10
[y | [3x 10 ¢ [3x 10 * [1x 10 ©
[mf | [5x 10 [2x 100 [5x 10 3
[oyf | [3x 10 1 |2x 10 [3x 10 *
oHE | [5x 10 * [1x 100 [5% 10 °
e | [3x 10 * [1x 100 [2x 10 2
PHE | [9x 10 2 [2x 100 [9x 10 ¢
oHf | [5x 10 2 [2x 10° [4x 10 *
27, 4x10 ' [2x 10* |4x 10 °
[ra || |4x 10 1 |2x 10 |3x 10 *
T 1x 10 * |4x 10° |1x 10 °
[ra || [1x 10 * |4x 10° |1x 10 *
Tq 3x10 ' [1x 100 [3x 10 3




|
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[7Ta | [3x 10 * [1x 10' [3x 10 ®
17575 1x 10 * |4x 10° [1x 10 3
T | [1x 10 * [4x 10° [ox 10
Ta 7x 10 2 |3x 10° [6x 10 *
[7Ta | [6x 10 2 [3x 10° [6x 10 *
Ta 2x 10 ' |8x 10° [1x 10 ®
[Ta | [2x10 * [8x 10° [1x 10 ®
1Ta( 2x 10 * |1x 10" |2x 10 3
2.2
)
®Ta( 2x 10 ' |1x 100 [2x 10 3
2.2
)
1Ta( 8x 10° |6x 10* |8x 10 2
9.31
)
8Ta( 8x 10° |6x 10> |8x 10 2
9.31
)
™Ta 2x 10 ' |1x 10* |6x 10 *
[7Ta | [7x 10 2 [1x 10* [2x 10
BTa 5x 10 3 |1x 10° [2x 10 °®
[Ta | [1x 10 ® [1x 10° [5x 10 ©
o4 4x 10 1 |2x 100 |3x 10 3
[=oTa | [3x 10 * [2x 100 [3x 10 ®
27y 4x 10 3 |6x 10 1 |2x 10 °
[2Ta | [3x 10 ® [6x 10 * [1x 10 ©
82T 6x 10 * |7x 10* |6x 10 ®
[=2Ta | [6x 10 * [7x 10t [6x 10 ®
®Ta 1x 10 2 |6x 10 * |7x 10 ®
[=Ta | [1x 10 2 [6x 10 * [6x 10 ©
®Ta 3x 10 2 |1x 10° (3x 10 *
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[#Ta | [3x 10 2 [1x 10° [3x 10 *
BTa 3x 10 * [1x 10t |3x 10 3
[=Ta | [3x 10 * [1x 100 [3x 10 ®
B5Ta 7x 10 ' |3x 100 |7x 10 @
[=ra | [7x10 ' [3x 100 [7x 10 °
| | 9x 100 |
e | 9% 10° |
ET [3x 10 * | 3x 10 *
| | 2x 100 |
| | 2x 100 |
[ | [sx10 * | |5x 10 3
| | 4x 100 |
| | 4x 100 |
ETI [2x 10 ¢ | |2x 10 3
| | 3x 100 |
| | 3x 107 |
[ | [1x 100 | [1x 10 !
= | | 2107 |
W | 2x 100 |
[ty ] [2x 100 | 2x 10 2
| | 1x 100 |
| | 1x 100 |
[=ny | [sx10 * | |ax 10 3
| | 1x 10|
| | 1x 10|
[y [2x 107 | 2x 10°
| | 2x10° |
= | | 2x 100 |
[== | |9x 10 2 | lox 10 *
=y | | 9x 107 |
=W | 9x 102 |
T [7x 100 | 7 10 2
| | x 100 |
B | | 1x 100 |
[=w | l6x 10 2 | [6x 10
| | 4x 10t |




(Ba
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(Ba (Ba
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Rl | | 4x 10 * |
[1e8y | |2x 10 2 | |2x 10 ¢
= | | 1x 10|
=W | | 1x 100 |
[=w | [3x 10t | [3x 10 3
"Re | [1x 10° [ax 100 |1x 10 2
[7Re | [9x 10 * [4x 10" [gx 10 3
[17%Re | [1x 10° [3x 100 [1x 10 2
[7Re | |ox 10 * [3x 10" [8x 10 *
[eRe | [1x 10° [5x 10" |1x 10 2
[Re | [1x 10° [5x 10" |1x 10 2
Re | lox 100 [4x 17 [6x 10 2
[=Re | [5x 10° [4x 107 [5x 10 2
|=tRe | [7x 10 2 [2x 10° |6x 10 *
["=Re | |6x 10 2 [2x 10° [5x 10 *
B2Re( 2x 10 2 |6x 10 t [2x 10 4

2.67

)
B2Re( 1x10 2 |6x 10 ' |1x 10 4

2.67

)
2Re( 9x 10 2 [3x 10° |8x 10 *

12.7

)
2R ( 7x 10 ? [3x 10° [6x 10 ¢

12.7

)
e | [4x 10 2 [8x 10 * [3x 10 *
[=Re | |9x 10 3 [8x 10 * [4x 10 ®
[Re | [3x 10 2 [ox 10 * [3x 10 *
["Re | [1x10 2 [ox 10 * |7x 10 ®
[12Re | [2x 10 2 [6x 10 * |2x 10 *
[®Re | [4x 103 [6x 10 * [2x 10 ®
[2eRe | [3x 10 2 [5x 10 * |2x 10 *
[=Re | [2x102 [5x 10 * |1x 10 *
[%Re | [2x 10 2 [4x 10 * [1x 10
[Re | [3x 103 [4x 10 * [1x 10 ®
|Re | |8x 10° [2x 107 |6x 10 2
[""Re | [5x 10° [2x 107 [2x 10 2
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[=Re | [3x 10 2 [6x 10 * [2x 10 *
[=eRe | [3x 10 2 |6x 10 ! [2x 10 *
[=Re | [1x 10° [3x 10* [1x 10 ?
[1mpe | [1x 10° [3x 10t [9x 10 3
=Re | [5x 10 2 [1x 10° |4x 10 *
[=Re | [3x 10 2 |1x 10° [3x 10 *
[*Re | [3x 10° [1x 10? [3x 10 ?
[=pe | [2x 10° |1x 107 [2x 10 2
[E0s | [1x 100 [5x 10' [1x 10 2
[=0s | lox 10 * |5x 10t [8x 10 @
[m0s | [8x 10 * [5x 10' [8x 10 °
[mos | [3x 10 * |1x 10t [3x 10 ®
[=0s | [2x 10 * [1x 10t [2x 10 ®
[=os | [2x 10 * |1x 10t [2x 10 @
[=0s | [7x10 2 [2x 10° [7x 10 *
[=0s | |ax 10 2 [2x 10° [3x 10 *
[=0s | [4x 10 2 [2x 10° [3x 10 *
[=0s | [1x 10 * |4x 10° [1x 10 °
s | 9% 10 ? [4x 10° |7x 10 *
=05 | 8x 10 2 [4x 10° [6x 10
=os | [1x 10 * [4x 10° [1x 10 °
[=os | |ox 10 2 |4x 10° [8x 10 *
os | [ox 10 2 [ax 10° [ox 10 *
[=0s | [1x 10 2 [2x 10° [1x 10 *
[==0s | [2x 10 2 [2x 10° [1x 10 “
[==0s | [2x 10 2 [2x 10° [8x 10 ®
[=0s | [2x10 % [3x 10 2 [2x 10 7
[m0s | [3x 10 5 [3x 10 2 [1x 10 7
[=0s | [9x 10 ¢ [3x 10 ? [3x 10 ®
[0 | |4x 100 |ax 10t |4ax 10 2
=os | [x 100 [ax 100 [2x 10 2
[=ros | [3x 100 [4x 100 [2x 10 2
=05 | [2x 100 [1x 107 [2x 10 2
[smos | [2x 10° |1x 10 [2x 10 2
[sm0s | [2x 10° [1x 107 [2x 10 ?
[mos | [6x 10 2 |1x 10° [5x 10 *
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[=t0s | [2x 10 ? [1x 10° [7x 10 ®
[=105 | [1x 10 2 [1x 10° [7x 10 ®
105 | |5x 10 ' [8x 10° [5x 10 °
[19m05 | [2x 10 * [8x 10° [9x 10 ¢
[=1m05 | [1x 10 * [8x 10° [8x 10 *
=0 | [7x 10 2 |1x 10° |7x 10 *
[*<0s | 3 10 2 [1x 10° |2x 10 *
[=50s | [3x 10 2 [1x 10° [2x 10 ¢
%05 | [2x 10 ® [3x 10 * [1x 10 ©
=0 | 2x 10 ® [3x 10 * |6x 10 ©
[*0s | 5% 10 * [3x 10 * [2x 10 ©
%05 | l4x 10 * [7x 10° [ax 10 2
[=e0s | [2x 10 * [7x 10° [2x 10 ®
=05 | 2x10 1 |7x 10° |2x 10
[=1r | |8x 10 * [2x 10" [8x 10 °
[=2yr | |5x 10 * [2x 10t [5x 10 °
[=1r | [5x 10 * [2x 10" [5x 10 ®
= | |5x 10 ! [2x 10" |5x 10 *
[=1r | [3x 10 * [2x 10" [3x 10 °
TS | [3x 10 ¢ [2x 10t [3x 10 ®
[=1r | [2x 10 * [5x 10° [2x 10 ®
= | |1x 10 ! [5x 10° |1x 10
[=1r | [1x 10 * [5x 10° [1x 10 °
[=s1r | [1x 10 * [3x 10° [1x 10 ®
[=1r | [8x 10 ? [3x 10° [7x 10 ¢
= | |8x 10 2 [3x 10° |6x 10 *
Bopr( 6x 10 2 |2x 10° |7x 10 *
15.8
)
lr( 4x 10 2 [2x 10° |4x 10 *
15.8
)
B ( 4x 10 2 [2x 10° ||4x 10 *
15.8
)
R 146 5x 10 ' |1x 10t ||5x 10 ®
1.)75
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Br( 3x 10 ' |1x 10" |3x 10 ?
1.75
)
B ( 3x 10 ' |1x 10' ([3x 10 ®
1.75
)
[=1r | [3x 10 1 |[7x 10° [3x 10 3
iTs | [2x 10 ¢ [7x 10° [2x 10 @
[=1r | [2x10 * [7x 10° [1x 10 @
[=epp | 5% 10 2 |1x 10° 5% 10 *
[y | [3x 10 2 |1x 10° [3x 10 *
[128g | [3x 10 2 |1x 10° [3x 10 ¢
[==rr | [1x 10 * [3x 10° [1x 10 @
[=opp | 5% 10 2 [3x 10° |2x 10 *
[=1r | [5x 10 2 [3x 10° [2x 10 *
[1=0p | [2x 10 2 [7x 10 * [2x 10 ¢
[=0rr | [ox 10 [7x 10 * [6x 10 ®
[=opp | |8x 10 3 |7x 10 ! |5% 10 ©
e 174 2x 10 1 |7x 10° [2x 10 3
3.10
)
T 1x 10 * |7x 10° |1x 10 *
3.10
)
R 14¢ 1x 10 ' |7x 10° [1x 10 3
3.10
)
o 4x 10° |1x 107 |3x 10 2
1.20
)
e 174 2x 10° |1x 10* [1x 10 2
1.20
)
el 17¢ 2x 10° |1x 10 |1x 10 2
1.20
)
o) 4x 10 [3x 10*  |4x 10°
I | | | |
LS | |ax 102 [3x 10¢ |4x 10°
P | |4x 102 [3x 10 |4x 10°
[1=2g | lox 10 * |6x 10 * [7x 10 °
[=2rr | [5x 10 ® |6x 10 * [2x 10 ®
ET: | [4x 10 2 [6x 10 * [2x 10 ®
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T [4x 10 3 [3x 10° [3x 10 °
| |6x 10 2 [3x 10° |2x 10 ®
T |1 10 3 [3x 10° [3x 10 ©
T [1x 10 * [3x 10° [1x 10 3
T [2x 10 2 [3x 10° [1x 10 *
gy | |2x 10 2 [3x 10° |1x 10 *
[=rr | |6x 10 2 |6x 10 * [5x 10 *
T [3x 10 2 [6x 10 * [2x 10 *
[ [3x 10 2 [6x 10 * [2x 10 *
[oopy | [3x 10 2 |4x 10 * [2x 10 ®
[sorr | [3x 10 3 |4x 10 * 1x 10 ®
T [3x 10  [4x 10 * [1x 10 ©
[=r | [5x 10 [8x 10° [5x 10 ®
| [2x 10 * [8x 10° |2x 10 @
[=ir | [2x10 * |8x 10° [2x 10 ®
e | [2x 10  [4x 10° [2x 10 °
T [9x 10 2 [4x 10° [8x 10 *
gy | |9x 10 2 |4x 10° |7x 10 *
| [1x 100 [2x 10 [1x 10 °
T [1x 10t [2x 102 [1x 10 !
T [1x 100 [2x 10 [1x 10 !
[senpy | [2x 10 * [7x 10° |2x 10 @
[y [1x 10 * [7x 10° [1x 10 °
T [1x 10 1 [7x 10° [1x 10 3
[Tir | [1x 10 ¥ [5x 10° [1x 10 ®
[=rir | |1x 10 * [5x 10° |1x 10 @
e | [1x 10 * [5x 10° [1x 10 °
[epr | [8x 10  [3x 10t [8x 10 3
et | [3x 10 T [ox 10° [3x 10 °
e | [3x 10 * [9x 10° [4x 10 3
Pt | [3x 10 2 [1x 10° [3x 10 ¢
et | [3x 10 * [7x 10° [3x 10 2
et | [2x10 “[1x 10 * [1x 10 ¢
[=pr | |1x 10 * [2x 10° |1x 10 @
[=pt | [8x 10 ¥ [3x 10* [5x 10 ®
[=py | [1x 10  [2x 10° [9x 10 *
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[=pe | [7x 10 ? [1x 10° [6x 10 *
[opr | 11x 10 * [2x 10° |1x 10 *
e | 5x 10 1[1x 10* [5% 10 2
[opt | lox 10 * [2x 10" [1x 10 2
[Pt | [5x 10 ? [7x 10 * [5x 10 *
[mepr | 11x 10 2 [2x 10 * |1x 10 *
| lox 10 * [2x 10" [9x 10 °
[y | l6x 10 ! |2x 100 |6x 10 2
[y l6x 10 ! [2x 100 [6x 10 3
| l6x 10 ! |2x 10" [7x 10 °
| 5% 10 ' [2x 10" [5x 10 °
[y | 5x 10 ! |2x 10t [5x 10 @
A [4x 10 *[1x 10" [4x 10 ®
| 2x 10 ! |1x 10" [2x 10 °
| 2x 10 ' [1x 10* [2x 10 3
[y | [1x 10 ! |5x 10° [2x 10 @
[2an | [1x 10 ! [5x 10° [1x 10 3
[y | 11x 10 * [5x 10° |1x 10 *
[ | 3x 10  [6x 10° [3x 10 3
[y | l1x 10 ! |6x 10° [1x 10 @
[=a0 [1x 10 ! |6x 10° [1x 10 3
[otay | 7% 10 2 [2x 10° |8x 10 *
[oau | 6% 10 2 [2x 10° |5x 10 *
[ty | 5% 10 2 |2x 10° [5% 10 *
[=an [2x 10 ' [3x 10° [2x 10 3
[=ay | 13x 10 2 [3x 10° |1x 10 *
[=au | 2x 10 2 [3x 10° |7x 10
[temnay | lax 10t [3x 10° |4x 10 *
| [4x 100 [3x 10° [4x 10 *
[mnay | l4x 100 |3x 10° [4x 10 !
[eau | 8% 10 2 [2x 10° |8x 10 *
[y | 13x 10 2 |2x 10° [2x 10 *
[y | 3 10 ? [2x 10° [2x 10 *
[toepy | 11x 10 * [2x 10° |1x 10 3
[seay | 14x 10 2 [2x 10° [3x 10 *
[1oopy | 13x 10 2 |2x 10° [3x 10 *
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[eau | 5% 10 2 |8x 10 * [5x 10 *
[seay | 12x 10 2 |8x 10 * |2x 10 *
[oau | 2x 10 2 |8x 10 * |1x 10 *
[y | l4x 10 2 [6x 10  [4x 10 4
[say | [1x 10 2 |6x 10 * [7x 10 ®
[=enpy | [1x 10 2 |6x 10 * |6x 10 ®
[oau | 1% 10 * [2x 10° [1x 10 °
[1ay | 13x 10 2 [2x 10° [2x 10 *
[=au | 3x 10 2 [2x 10° [2x 10 *
| [7x 10 ! |1x 10' |7x 10 3
| l4x 10 1 [1x 10" [4x 10 3
| 4x 10 *[1x 10 [3x 10 ®
| [4x 10 2 [8x 10 * |4x 10 *
[zonay | 12x 10 2 |8x 10 * |2x 10 *
[ay | 2x 10 2 |8x 10 * [2x 10 *
[zay | [1x 10° [3x 10* |1x 10 2
(oA | [7x 10 1 [3x 10" [7x 10 ®
(oA | [7x 10 * [3x 10* |7x 10 @
[Zeau | 2x 10" [5x 107 [2x 10 !
[zeny | [2x 10' [5x 107 |2x 10
(A | [2x 10" [5x 107 [2x 10 !
[omg | [7x 10 2 | |ax 10 4
g | | 2310 |
[y | 5x 10 | |5x 10 2
[oHg | 13x 10 * | [3x 10 3
g | | 3 10* |
g | | 2< 10 |
[omg | 5x 10 | 5% 10 2
[=Hg | 2x 10 2| [1x 10 *
| | 4x 100 |
[=g | [1x 10 | |2x 10 3
[y | l1x 10 ! | |1x 10 2
| I 1x 10" |
| | 5 10° |
[=g | [1x 10 | |2x 10 3
[y | 12x 10 2 | |1x 10 ¢
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g | | |1x 10 |
[ | lax 10 * | lax 10 ®
[=g | [2x 10 1| |2x 10 ®
g | | 3x 10+ |
g | | |1x 10° |
[ | lax 10 | 5% 10 *
[=Hg | [7x 10 | l4x 10 ®
g | | 2% 10° |
[=Hg | |ox 10 2 | [1x 10 ®
[y | 5% 10 2 | 5% 10 4
Hg | | 7% 10° |
g | | 3x 10° |
[=Hg | [1x 10 * | [1x 10 ®
[ | 5% 10 | 3x 10 ©
g | | 7% 10 |
T [1x 10 2| l1x 10 °
[oHg | 4x 10 2 | [2x 10 ¢
=g | | 2x10 7 |
g | | 5% 10 * |
T [1x 10 2| lox 10 ©
[=Hg | [1x 10 2 | |ox 10 &
g | | l9x 10° |
[=g | [4x 10 1| l4x 10 ®
[ | [2x 10 1| |2x 10 ®
g | | 3x 10" |
g | | 1x 10|
[=g | [5x 10 1| 5x 10 °
[=ng | [3x 10 2 | |2x 10 °
g | | |1x 10° |
[=hg | |8x 10 2 | 8x 10 4
[=Hg | [3x 10 7 | |2x 10 ¢
=g | | 4x 10° |
g | | 2x 10 |
=g | lox 10 2 | lox 10 4
g | [5x 10 ¢ | 3x 10 °
g | | 4x 10° |
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[Hg | [2x 10 1| [2x 10 3
[ohg | [7x 10 2| lax 10 *
g | | 9% 10° |
g | | 5% 10° |
[Hg | [2x 10 1| [2x 10 3
[omg | |ax 10 2| |2x 10 ®
g | | ¢ 10° |
[7mg | l1x 10 | l1x 10 @
[Hg | [3x 10 2 | [2x 10 *
g | | l6x 10° |
g | | ¢ 10° |
[7mg | l1x 10 | l1x 10 @
[=Hg | [1x 10 1| [7x 10 *
=g | | 3x 10|
[=Hg | |8x 10 | |8x 10 ®
[=ng | lax 10 | ax 10 @
g | | 3 10 |
g | | 3x 10|
[=Hg | |8x 10 | |8x 10 ®
[ | [3x 10 2| |2x 10 °
| | 2x 10° |
[mog | |ax 10 2 | 3x 10 4
=g | [1x 10 2| |5x 10 ®
g | | 5% 10 * |
| | 8x 10 * |
[mog | 3x 10 2| |2x 10 4
g | |5x 10 | [3x 10 °
g | | 4x 10|
[ | [1x 10° | [1x 10 2
[mog | |8x 10 | 8x 10 @
| | 4x 10|
g | | 4x 10|
[ | [1x 10° | [1x 10 2
E [2x 10° 1x 102 [3x 10 2
[y | [6x 10 *[2x 10" [6x 10 *
[ | [7x 10 *[3x 10" [8x 10 3
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| [4x 10 *[2x 10' [ax 103
e |8x 10 *|ax 10" |8x 10 °
[ | [2x 10 *[1x 10" [2x 10 ®
[y | [3x 10 *[2x 10t [3x 10 ®
[ | [6x 10 *[3x 10" |6x 10 °
[zor1 | |8x 10 2 |5x 10° |9 10
P [3x 10 *|ox 10° [3x 10 °
[zery | [7x 10 2 |2x 10° |6x 10 ¢
[P | [3x 10 2 [7x 10 * [3x 10 *
[oem1 | |ax 10° |1x 107 |ax 10 ?
P | [3x 10° [1x 10?2 [3x 10 2
ey | [2x 10° [1x 102 [3x 10 2
| [4x 10° [1x 107 [ax 10
o | |4x 10° |1x 102 |4x 10 2
Pb | [7x 10 *[3x 10" [7x 10 °
[1pp | [7x 10 *[3x 10t |7x 10 @
[oPp | [3x 10° [1x 107 [3x 10 ?
[fompy | |5x 10 *|2x 10* |5x 10 @
P | [2x 10 *[ox 10° [3x 10 °
[=py | |ax 10 *|2x 10t |5x 10 @
[opp | [8x 10 7 [2x 10° [8x 10 *
2Py | |2x 10 *|6x 10° |2x 10 @
S [1x 10 ®[1x 10 * [1x 10 ®
[z2py | [2x 10 *|7x 10° |2x 10 @
e | [1x 10 *[4x 10° |1x 10 ®
[Py | |5x 10 *|2x 10* |6x 10 °
[P | 5% 10 23x 10° [4x 10 *
[Py | [7x 10 *[1x 10t |7x 10 @
[opp | [2x 10 5[1x 10 3 |1x 10 7
e | |4x 10 2 |4x 10° [3x 10 ©
2P| |6x 10 *1x 10 * |6x 10 ©
[29pp | |ax 10 *[5x 10° |ax 10 °
[mogi | [5x 10 *[2x 10" [5x 10 °
[mBi | |ax 10 *|2x 10' |ax 10 ®
[o8i | [3x 10 1 [7x 10° [3x 10 ®
[ogi | [2x 10 1 |7x 10° |2x 10 @
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[egi

[2x 10 *[1x 10' [3x 10 ®

|eg

|2x 10 *|1x 10* [2x 10 ®

=B

|6x 10 7 [2x 10° [6x 10 *

|2eg

[5x 10 2 [2x 10° [4x 10 *

[~ gi

4x 10 2[1x 10° [5x 10 *

[~gj

4x 10 2[1x 10° |4x 10 *

=B

[3x 10 7 |1x 10° [3x 10 *

|z=g

|2x 10 2 [1x 10° [1x 10 *

[egi

[2x 10 2 [5x 10 * [2x 10 “

|egj

|1x 10 2 |5x 10 * |7 10 ©

|2°7Bi

[2x 10 2|7x 10 *|2x 10 *

|ZDYBi

[7x 10 ®[7x 10 1 [2x 10 ©

[egi

[2x 10 7 [8x 10 *[2x 10 “

|egj

|7x 10 ®|8x 10 *[3x 10 ©

[2ogi

|1x 10 2[6x 10 * |1x 10 *

|2ogj

[3x 10 “[6x 10 *[1x 10 ©

[ogi

4x 10 “[5x 10 7 [3x 10 ©

[z

|1x 10 5 |5x 10 2 [4x 10 ®

[18i

|1x 10 2|7x 10" [1x 10 *

|28

|1x 10 2 [7x 10t [1x 10 *

[22gi

[1x 10 ¥ [3x 10° [1x 10 ©

|22gj

|5x 10 4|3x 10° [4x 10 ©

3B

|1x 10 3[4x 10° [1x 10 °

[2g

[5x 10 4 |ax 10° [4x 10 ©

[4gi

[2x 10 ¢ [7x 10° [2x 10 ®

2B

|1x 10 ®|7x 10° |9x 10 ©

2P0

|5x 10 *[2x 10" 5% 10 ®

[2pg

[3x 10 *[2x 10t [3x 10 3

|2°“Po

|9x 10 2 [4x 10° [9x 10 “

|2°“Po

|ax 10 2 |ax 10° [3x 10 *

[=Po

[3x 10 *[2x 10" [3x 10 *

|MP0

[2x 10 *[2x 10t [2x 10 3

|2°6Po

[2x 10 % [5x 10 2 [1x 10 ©

|2°6Po

|5x 10 4 |5% 10 2 [2x 10 ©

[P0

[2x 10 *[8x 10° |2x 10 ®

|2°7Po

|1x 10 *[8x 10° [1x 10 3
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[0 | [2x 10 5/[5x 10 “ [1x 10 7
[zepp | |8x 10 ® 5% 10 4 [3x 10 ®
[P0 | [2x 10 ® [5x 10 * [1x 10 7
[zopo | |8x 10 ® |5x 10 ¢ [3x 10 ®
[2%P0 | [3x 10 5 [6x 10 “ [2x 10 7
o | |9x 10 © |6x 10 ¢ |4x 10 ®
Po | 2x 10 ? |2 10* |1x 10 *
[z22pg | [7x 10 * [2x 10t [5x 10 ©
B\s H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po |7x 10 ?|1x 10" |5x 10 *
Fr Se Hg
At Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr Nb Tc Ru [3x 10 ?|1x 10 |2x 10 *
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HF
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu An Cm Bk CF Es Fm Md
Hg
DIat H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po [5x 10 2 (3x 10° |4x 10 *
Fr Se Hg
DAt Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr Nb Tc Ru |Ix 10 2 (3x 10° |6x 10 S
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HFf
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu An Cm Bk CF Es Fm Md
Hg
B\s H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po |2x 10 ! [9x 10° |2x 10 3
Fr Se Hg
AL Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr Nb Tc Ru [6x 10 2 |9x 10° |[3x 10 *
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HF
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu Amn Cm Bk CF Es Fm Md
Hg
290t H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po [5x 10 2 (2x 10° |4x 10 *
Fr Se Hg
0t Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr Nb Tc Ru |Ix 10 2 [2x 10° |5x 10 S
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HFf
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu An Cm Bk CF Es Fm Md
Hg
208t H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po (3x 10 2/{9x 10 ! |3x 10 *
Fr Se Hg




[2x 10 2 [3x 10 * |1x 10 ¢
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24t |Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr Nb Tc Ru [4x 10 3|9x 10 ' |2x 10 ®
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HF
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu Am Cm Bk CF Es Fm Md
Hg
2t H Li Na Si P K Ni Rb Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po [8x 10 #|7x 10 2|7x 10 ©
Fr Se Ha
2At Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr No Tc Ru [2x 10 “|7x 10 2 |1x 10 ©
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HF
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu Am Cm Bk CF Es Fm Md
Hg
254t |H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po |4x 10° |4x 107 |4x 10
Fr Se Hg
254t |Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr No Tc Ru [4x 10° |4x 107 |4x 10
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HF
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu Am Cm Bk CF Es Fm Md
Hg
26t H Li Na Si P K Ni Rb Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po |2x 10° |7x 10° |2x 10
Fr Se Ha
26t |Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr No Tc Ru [2x 10° |[7x 10° |2x 10
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HF
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu Am Cm Bk CF Es Fm Md
Hg
25t H Li Na Si P K Ni Ro Sr Mo Ag Te I Cs Ba La Gd W Pt TI Pb Po |4x 10 !|1x 10° [3x 10 3
Fr Se Hg
28t |Be Mg Al Ca Sc Ti V Cr Mn Fe Co Cu Zn Ga Ge As Y Zr Nb Tc Ru (3x 10 '|1x 10° |3x 10 3
Rh Pd Cd In Sn Sb Ce Pr Nd Pm Sm Eu Tb Dy Ho Er Tm Yb Lu HF
Ta Re Os Ir Au Bi Ra Ac Th Pa Np Pu Am Cm Bk CF Es Fm Md
Hg
22n ( 0.4 ) 3x 10 2x 10
3(8x 10 (5% 10
) )
= [7x 10 °|1x 10° [6x 10 °
o | [1x 100 [1x 10° [1x 10 *
mE | [1x 10 Z |6x 10* [1x 10 *
= | 3x 10 ?|5x 10° |2x 10 ®
= [1x 10 ®|1x 10° [9x 10 ©

|723Fr




(Ba

‘ cme) (Bq

cms) (Ba

cmd)

[7Ra | lox 10°  [2x10°  [9x 10 2
|Z2Ra | 710 ® |ox 100 [7x 10 5
[ZRa | 4x10® [5x10° [2x10°
[2%Ra | l9x 10 © |9x 10 ° |[4x10°®
#Ra | 410 ¢ [5x 103 [2x 103
[ZRa | 9x 10 6 [2x 10 ¢ |4x 10 ®
[ZRa | 1x10 ' |1x10* [5x 10 *
[ZRa | 1105 ([7x10 4 |[5x 10 ®
[ZRa | [1x10 ' [4x10° [1x10°
[zac || 210 ® [2x10*  [2x 10 5
[Zac | 2x103 [2x10' [2x 10 5
[z2ac | 2x10° [2x10* [2x10°®
[Zac | [2x10° [1x10° [1x10°
[z || 210 4 |1x 10°  |1x 10 ©
[Zac | 2x10 * [1x10° |1x 10 ©
[Z=ac | 2x10° [3x10? |[1x107
[Zac | [4x10 ¢ [3x10? [2x10°8
[Z=ac || 3x 106 [3x 102 [2x 10 ®
[Zac | 9x10 ° [8x 10 > [1x 10 °©
[Z2ac | 2x10° [8x10? |[1x107
[Z2nc | [2x10°5 [8x10? |[1x107
[Zac || 3x 10 8 [8x 10 4 [2x 10 ©
[Zac | 1x10 7 [8x 10 * |6x 10
[Zac | l4x 10 7 |8x10 ¢ [2x10°
[Z2nc | [7x10 4 [2x10° [5x 10 €
[Z2ac || 210 ® [2x10°  |7x 10 ©
[Zac | 2x103 [2x10° |8x 10 ©
[Z2nc | 5x 10 1 [2x 10*  [4x 10 @
[Zac | l4x10 1 [2x10' [3x 103
[Zoac || l4x 10 1 [2x 100 |4x 10 3
[Zac | 5% 1°  [1x 10°  |5x 10 2
[mac | 5x 10°  |1x 107 [5x 10 2
[Zoac | l4x 100 [1x10?  [5x 10 2
2t | 1x 101 [2x 10°  |1x 10 3
[Zmh | 1x10 1 [2x10°  [1x 103
P | 3x 10 ¢ [2x 10°  [2x 10 6




(Bq

‘ cmd) (Bg

cme) (Ba

cmd)

| 10 |10 [2x10 ¢
[z | [3x 106 |8x102 |1x10°®
Zm | [3x 106 |8x102 [1x10°
Pm | lox 10 7 |ox 10 ® |4x 10 °
[m | [8x10 7 |ox 103 [4x 10 °
[z | [3x 107 [2x10* |1x10°
[Zm | [4x10 7 [2x103 [2x10°
Pm | [7x 107 [4x10° |[3x10°
| [x10° [4x10° [ox10°
= | l6x 10 2 [2x 100 [4x 10 ¢
= | [Bx102 [2x 100 [4x 10 ¢
Pem | [7x 107 [4x10° |[3x10°
| [x10° [4x10° [5x10°
= | |8x 10 1 |ax 10t |7x 10 @
| [7x10 ' |ax10t |7x10°
2| [x10° [ax10* [2x 103
| [4x10° [2x10* [2x10°
= | [2x10 1 |ox 10° |2x 10 @
| 10 ' [ox10° [2x10°
[Zpa | [2x 10 ¢ [2x10°  [2x 10 °
[ZPa | [2x10 ¢ [2x10°  [2x10°¢
[Zra || [5x 10 4 |1x 10° [2x 10 €
[ZPa | [4x10 ¢ |1x120° [2x10°
[Zpa | lax 10 * |1x 10t [2x10°
[ZPa | [4x103 [1x 100 [2x10°
[7pa | [5x 105 |8x 10! |2x 107
Pa_| [x10° [ex<10° |[2x10°
[zpa | [2x10 7 |1x10° |1x10°
| [1x120° [1x 103 [4x10°
|72 | [3x 10 * |1x10° [1x 10 ®
e | [1x10 7 [1x10°  [4x 10
=pa_| [710° [ox10® [4x10°
[=Pa | [7x103 Jox10 ' [3x10°
PP | l4x 102 |2x 100 [3x 10 ¢
P | [4x102 [2x10° [3x 10 *
[2opa | lox 100 [3x 102 |9 10 ?




|

(Bq

cm?) (Ba
cm3) (Bq
cmd)
[Ppa | [ox 100 [3x 1> [9x 10 2
[Zpa | [1x 100 |ax 100 |1x 10 2
7P| [1x 100 [4x 100 [1x 10 2
= | ax 100 |
= | ax 100 |
= || [5x 10 ¢ | 5% 10 ©
VI [4x 10 ¢ | [3x 10 ¢
[y | lax 10 ¢ | 3x 10 ©
S | 2x107 |
| | 2x102 |
Py [5x 105 | [3x 10 7
[y [2x 10 ¢ | l1x 10 ®
T [x10¢ | 8x 10 °
By | | B3x 100 |
Py | | 3x 100 |
[y [1x10 1 | |2x 10 @
T [5x 102 | 3x 10 ¢
N lax 10 2 | |2x 10 4
| | 3x10° |
= | 3x10° |
T lax10 6 | [3x 10 8
=y | lax 10 ¢ | |2x 10 ¢
T [8x 10 7 | |4x 10 °
= | 2x102 |
S | 2x107 |
=y | [3x 105 | |2x 10 7
T lox 10 ¢ | |ax 10
= [3x 10 ¢ | l1x 10 ®
P | 2x107 |
P | | 2x102 |
Py | [3x 105 | |2x 10 7
[y [1x 105 | lax 10 ®
v [3x10 6 | [1x 10 8
| | 2x102 |
= | 2x102 |
=y | [3x 105 | |2x 10 7




(Bg

‘ cmsd) (Bg

cmd) (Ba

cmd)

T [1x105 | 4x 10 8
=y | [3x 106 | |2x 10 ®
=y | 2x10° |
=y | | 2x 100 |
= 10t | 2 10°
=y | [2x 100 | lex 10°
[y [2x 100 | [2x 10?
| | 2x102 |
P | [ w? |
[y | [3x 105 | |2x 10 7
T [1x10% | |ax 10 ®
[y | [3x 106 | l1x 10 ®
P | I x 100 |
By | | x|
T l6x 102 | |6x 10 ¢
=T l1x10 2 | [7x 10
v [1x102 | [7x 10 ®
| | 2x102 |
= | 2x102 |
=y | lax 105 | [3x 10 7
T [1x105 | 4x 10 8
=y | lax 106 | |2x 10 ®
S | 3x 100 |
= | 3x 100 |
T [x 100 | [1x 10 2
=y | l6x 10+ | 5% 10 @
T l6x 10 | |5x 10 @
Py | =10t |
| I <10 |
[y | l6x 102 | |6x 10 *
[y | [3x 102 | [2x 10
[y | [2x10 2 | [2x 10
2N | [1x10 2 [4x 100 [8x 10 ®
[zp | |6x 10 ¢ |ox 100 [3x 10 @
=N | [7x 100 |4x 12 [7x 10 2
[ZNp | [3x 10 2 |1x 10° [2x 10 ¢




|
(Ba
cm?) (Bg
cm3) (Bag
cmd)
[=Np | [8x 10 2 [1x 100 [3x 10
“Np( 1105 [6x 102 [4x 10 ©
1.15X10°
)
ZNp( 6x 10 3 |4x 10° [2x 10 ©
2.5
)

[ZNp | [1x 10 ¢ |9x 10 * |6x 10 °
[ZNp | [1x 10 2 |9x 10 |6x 10 °
[ZNp | [2x 10 2 |1x 10° |1x 10 *
[*np | [2x10 * [1x 100 [1x 10 ®
[2onp | [1x 10° |5x 10' |1x 10 2
[Pnp | [1x 100 |5x 100 |9x 10 3
|z2py | | l6x 100 |
[Py | | lex 100 |
|232Pu | | |6>< 10° |
=Py | |9x 10 * | [7x 10 ¢
|z2py | [sx 10 * | l6x 10 ©
2Py | | [5x 100 |
|234Pu | | |5>< 10° |
2Py | | [5x 100 |
=Py | [1x 10 @ | l6x 10 ©
2Py | [1x10 3 | |5x 10 ©
|235Pu | | |4>< 10? |
|235Pu | | |4>< 10? |
|z=py | | lax 102 |
[Py | [8x 100 | 8x 10 2
|z=py | l8x 100 | 8x 10 2
ey | | [1x 10 2 |
|zepy | | [1x10 2 |
[Py | | [1x10 2 |
|zepy | [2x 10 ¢ | [7x 10 °
ey | [3x 10 ¢ | |1x 10 ®
[Py | | lsx 100 |
=Py | | | 8x10°|
=Py | | | 8x10°|




(Ba

cm?) (Ba
cms) (Ba
cmd)
R [7x102 | 4x 10 *
=Py | [7x 10 2 | 3x 10 *
=Py | | lax 10 ® |
[=py | | lax 10 ® |
[Py | | [4x 10 3 |
[zpy | [7x10 7 | |3x 10 °
=Py | [2x10 ¢ | 8x 10 °
[zpy | | lax 10 ® |
PP | [ax10 % |
P | | [4x 10 2 |
=Py | [7x10 7 | 3x 10 °
[zpy | [3x 10 ¢ | 8x 10 ©
P | | [ax10 % |
Py | | lax 10 3 |
[Py | | lax 10 ® |
[opy | [7x10 7 | 3x 10 ©
Popy | [3x10 ¢ | 8x 10 °
[y | | [2x 10 * |
Papy | | [x10 * |
[apy | | [2x10 * |
Papy | l4x10° | [2x 107
[apy | [2x 10 ¢ | |8x 10 7
[opy | | lax 10 ® |
[epy | | lax 10 ® |
Popy | | [4x 10 3 |
[y | [7x10 7 | |3x 10 °
[opy | [3x 10 ¢ | |9x 10 °
[opy | | lox 100 |
Pepy | | lox 100 |
|243Pu | | |9>< 10° |
ey | [x10 1t | |1x 10 ®
[opy | [2x10 t | l1x 10 @
Papy | | [4x 10 3 |
[py | | lax 10 @ |
4y | | lax 10 ® |
[py | [7x10 7 | 3x 10 ©




|

(Ba

‘ cmd)
(Ba
cme) (Ba
cmd)

Papu | [3x10¢ | lox 10 °
|245Pu | | |1x 10° |
|245Pu | | |1x 10° |
[pu | | 1x 100 |
Pepu | [3x102 | 3x 10 *
[py | [3x 102 | 3 10 ¢
[epy | | [x10t |
[2epy | | lx10t |
[Pepu | | <10t |
[epy | [3x10* | 2x 10 ®
[epy | [3x 0% | [2x 10 °
[=am | l6x 101 |5x 10t [5x 10 @
[ | [3x10* [3x 100 [1x10°
[=oam | [7x10 2 [3x 10°  [5x 10 *
Pomn | 102 [1x10 [3x10 ¢
[am | lsx 107 |5x 103 [3x10°
[2am | [2x103 [3x10° [7x10°
Pean | [x107 [5x10° [ax10°
[eam | |8x 107 [5x 103 [3x10°
[am | l1x10 2 |2x10°  |7x10°®
[oam | [3x10* [3x 100 [2x10°
[eam | [3x 101 |ix 100 [2x10°
[eam | [2x10 1 [ix 100 [2x10°
[zenam | [5x 101 |2x 100 |5x 10 @
[7am | [5x10* [3x 100 [5x10°
[=om | [4x10® |1x 100 [3x 10 ®
[=em | [210 1 [ix 100  [2x10°
[2om | lox 10 ¢ [1x 10 [4x10®
Pacm | [8x10 ¢ fox 10 [3x10°
[2om | |6x10° |6x 102 [2x10°
Pan | [1x10 ¢ [6x10° |[4x10°
[om | [1x10¢ |7x103 |5x10°
[eom | [8x 107 [5x10° [3x10°
[2eom | |8x 10 7 [5x 10% [3x 10 °
pron | lex10 7 [5x10° [4x10°
[2om | [2x107 [1x103 |ox 10 ®




(Bq

cmd)
(B
cmd) (Ba
cmd)
Peon | [ax10 7 [3x 100 [ax10°
[=om | [4x 108 |2x 104 [2x 10 ©
[=em | [6x10 1 [3x10' [5x 103
ok | [1x10 2 [1x10° |6x 10 °
[ | [5x 102 [2x10°  [4x 104
B | [5x 107 |2x10® |2x10°
[ | [2x103 [2x10° |7x10 ¢
[op | [2x10 4 Jox10! |[8x 107
=Bk | [3x 102 |ex 10 [1x 104
=B | [3x 101 |2x 10t [3x 10 ®
Pack | [1x10 3 |1x10*  |9x 10 ©
[ecr | l6x 105 |2x10t [3x 107
ek | [Bx101 [ax 100 [3x10°
[z | [3x 10° |2x102 |1x10®
[ece | [5x10 7 [2x10° [2x10°
[=cf | lox 107 |5x 10 [4x 10 °
[=cr | [5x 107 |2x10°% [2x10°
=of | [2x10¢ [7x10° [6x 10 °
of | [x10° [ax10' [1x10°
[=cr | lox 107 |2x10°% [3x 10 °
[=cf | [5x10% [2x 100 [2x10°
=of | [5x 106 [3x 10! [6x 10 ¢
PEs | [x 10 2 [ax 100 [5x 10 ¢
~es | [x 10 2 [4x 100 2% 10
[=es | [1x102 |5x10° [6x 10 ®
|=Es | |1x105 |1x10! |5x10°®
*es | [3x 106 [2x102 |1x10?
[mmes | l6x 105 |2x10% [3x 107
[=es | [7x10¢ |1x10! [3x10°
[=Es | [6x 105 |2x10! |6x 10’
I [1x10 2 |1x 10t |7x 10 ®
= [x 10 ° [3x 10 [ax10°
= [7x10°5 [8x10! [3x107
(= [3x 10 4 |2x 10°  [2x 10 ©
[=Fm | [8x105 [3x10! |5x107
= | [3x10° [ax102 [3x10°




(Ba

cm?d)
(B
cms) (Ba
cmd)
| l4x 10 [4x107 [2x10°
I [1x 10 * [6x 10° [5x 10 ©
= | 510 ° [5x 102 [2x10°
(Bg cm?d)
| (Bgq cmd) (Bq cmd)
10 4x10 4 4x100 3x10 6
10 3x10 6 4x10 2 3x10 8
1
1 2x10 © 5x10 3 8x10 ©
30
30 3x10 8 2x10 4 2x10 1
10 3x10 2 5x100 1x10 ¢
10 6x10 5 1x10 t 6x10 7
1
1 4x10 6 5x10 3 2x10 &
30
30 1x10 5 710 4 4x10 &
| | )
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